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a—F 20290020 70290300 70290030 70290310 70201070
R050901 2% |E-b 423v9)-HE4FB) ESZUR 423v9)-HEHFB) =708
T AR@-HBEG 18-8-40 KD HE® 18-8-40 + A HE® 18-8-40 £ AB) - #E® 18-8-40| £A@-1 18-12-40
s W/C=60% W/C=60% W/C=55% W/C=55% W/C=60% C=270kg
Hh[X ==K (v m3 m3 m3 m3 m3

01 EFm(REHRT) B3 B3 EoE ) B3 B3
02 T 1B 1B8E 1B 1B 1B8E
03 44~ EET(IHZ B ET) B3 B3 EoE ) B3 B3
04 5 58T 1B8H * 1B8H * 1B8H
05 ZEA B3 B3 B3 B3 B3
06 244 EET(IBF &) 1B8H * 1B8E * 1BH
07 44 BB (IB=EEAT) B3 * B3 * B3
08 LRI (IH3ARTH) 1B8H 1B8H 1B8E 1B8H 1B8H
09 BFH B3 B3 B3 B3 B#H
10 AART (1BE AAY) 1B8H 1B8H 1B8E 1B 1B
11 3hgT (IR ER) B3 B3 B3 B3 BH
12 mEEH 1B 1B8E 1B8E 1B8H 1B8H
13 iz 7 (18 Bl ) B3 B3 B3 B3 1B#H
14 KEEHET 1B8H 1B8H 1B8H 1BH 1BH
15 7)1l (IR E L)) B3 B3 B3 B3 1B#H
16 H#xm (1BREA) 1B 1B 1B8E 1B 1B
17 F) I (IR F&E ) B3 B3 B3 B3 1B
18 FEIBET(IBE ) 1B 1B8H 1B8E 1B8H 1B8H
19 & B3 B3 B3 B3 1B#H
20 )1l (18%E o BIHY) 1B8H 1B8H 1B8H 1B8H 1BH
21 N\Fm(BAFH) B3 B3 B3 B3 B3
22 = =HT 1B8H 1B8H 1B8H 1B8H 1B8H
23 AFAT(IRAFHD) B3 B3 B3 B3 1B#H
24 BFHET 1B8E 1B8H 1B8E 1BH 1BH
25 FIERAT(IH ) 1IHT) B3 B3 B3 B3 B3
26 FEERET(IHRIEEET) 1B8H 1B8H 1B8H 1B8H 1B8H
27 B& BT B3 B3 B3 B3 o)
28 FIERET(IBfEH#AT) 1B8H 1B8H 1B8H 1B8H 1B8H
29 NP (IREHH) B3 EoE ) EoE ) B3 B3
30 AFET(HAEH) 1B8H 1B8H 1B8E 1B8E 1B
31 A B3 B3 B3 B3 B
32 AR M (BARTIRS) 1B8H 1B8H 1B8H 1B8H 1B
33 ARANET B3 B3 B3 B3 B3
34 FHFF)IR T (B AHD) 1BE 1B8E 1B8E 1B8H 1B
35 FriAlT(IH 2 H7) EoE ) B3 B3 B3 B3
36 #5MAT 1B8H 1B8E 1B 1B 1B8H
37 AR S (BHER) B3 B3 B3 B3 B3
38 FiAET(IH/VEK) 1B8H 1B8H 1B8H 1B 1B8H
39 +MEH(B+FMES) B3 B3 B3 B3 1BH
40 =R 1B 1B8H 1B8H 1BH 1BH
41 BP0 T B3 B3 B3 B3 B3
42 EFET(IBEFHD) 1B8H 1B8E 1B8E 1B8H 1B8H
43 LS EET(EERE) B3 B3 B3 B3 1BH
44 +MEA ™ (I8-+F0EHET) 1B8H 1B8H 1B8H 1B8E 1BH
45 XFHT B3 B3 B3 B3 B3
46 fE& AT 1B8H 1B8H 1B8H 1BH 1BH
47 BALET(IR £ 4LET) B3 B3 B3 B3 B#H
48 FAvET(IHER-LEY) 1B8H 1B8H 1B8E 1B8E 1B
49 BT (1H T HED B3 B3 B3 B3 1BH
50 £ A ET(IBR B4 1B8H 1B8H 1B8H 1B8H 1B8H
51 7N 4 Frid B3 B3 B3 B3 B#H
52 Lo (B o) 1B8H 1B8E 1B8E 1B8H 1B8H
53 Lo (1R)IIET) B3 B3 B3 B3 1B#H
54 £ (IBAMEET) 1B8E 1B8H 1B8E 1B8H 1B8H
55 AEET B3 * B3 * 1BH
56 BEF 1BH 1BH 1B8H 1B8H 1B8H
57 BRI B3 * B3 * 1BH
58 fheF 4t 1B * 1B8E * 1B8H
59 & oW (IRREFRA) B3 B3 B3 B3 1BH
60 £ 4 RET 1B8H 1B8H 1BH 1B8E 1B8H
61 21 B (IRAEHE) B3 B3 EoE ) B3 B3
62 SZHET(1HHED) 1B8H 1B8H 1BH 1B8E 1B8E
63 2 B (IBFMEHR) B3 B3 EoE ) B3 B3
64 FHET(BE ) 1B8H 1B8H 1BH 1B8E 1B8E
65 2 A' % M (IB4aH) B3 B3 EoE ) B3 B3
66 27' % (IBFEEHR) 1B8H 1B8H 1BH 1B8E 1B8H
67 2N B (IREHH) B3 B3 o) B3 B3




o [X B Mz

a— K [Z20290320 70201020 70290340 70290070 70290350
R050901 2% |E£)-HEIFB) ESVZURI £7)-+HEAFB) ESVZURI £7)-+HEAFB)
+AR@-118-12-40 +A® 18-5-40 W/C=  £A® 18-5-40 W/C= | £AD 16-3-25(20) | +AD 16-3-25(20)
s W/C=60% C=270kg |60% 60% W/C=60% C=265kg (W/C=60% C=265kg
Hh[X ==K (v m3 m3 m3 m3 m3
01 EFm(REHRT) o) B3 B3 * *
02 FHHET b5k b5k Ei5E * *
03 4 » BT (IHEE HET) B B B * *
04 5 5\ ET * b5k * * *
05 ZEA B3 B3 B3 * *
06 44+ BT (IR FEEAT) * b5k * * *
07 4\ 4 BT (IR = BEAT) * o) * * *
08 sAgT T (IH3ART™) b5k b5k b5k E5E1 b5k
09 BFH 1BH 1B#H B3 B3 o)
10 5477 (IR & AET) b5k b5k b5k E5E b5k
11 3hgT (IR ER) B3 B3 B3 B3 B3
12 HEEN b5k b5k E5E Ei5E b5k
13 iz 7 (18 Bl ) B3 B3 B3 B3 o)
14 KESH] b5k b5k b5k E5E b5k
15 7)1l (IR E L)) B3 B3 B3 B3 B3
16 F#x (IRREET) b5k E5E1 b5k E5E b5k
17 F) I (IR F&E ) B3 B3 B3 B3 B3
18 BRIEET (1B F 84 b5k b5k b5k b5k b5k
19 & 1B#H 1B#H B3 B3 o)
20 )1 (IH%E o BBFY) b5k b5k b5k E5E b5k
21 AF#H(BAFT) o) B3 B3 B3 B3
22 ZFHT b5k b5k b5k E5E E5E
23 AFBET(IRAFHE) B3 B3 B3 B3 B3
24 HFET b5k E5E b5k E5E b5k
25 FEERET(IR %) 11 HT) B3 B3 B3 B3 B3
26 EERET(IHES AR ET) b5k b5k Ei5E E5E b5k
27 B& BT B3 B3 B3 B3 o)
28 FERET (@A) b5k b5k b5k E5E b5k
29 \NFi (IR EH) B3 B3 B3 B3 o)
30 AFEI(HEGH) b5k b5k b5k E5E E5E
31 A B#H 1BH B3 B3 B3
32 ARS8 EFR)IRS) Ei5E b5k E5E * *
33 ARANET B3 B3 B3 * *
34 AR (IBEAHE) b5k E5E b5k * *
35 R ET(IA 2 HT) B3 B3 B3 * *
36 E5HET E5E b5k b5k * *
37 AR S (BHER) B3 B3 B3 * *
38 #ARET(IB/vAR) E5E b5k b5k * *
39 +MEH(B+FMES) B3 B3 B3 B3 o)
40 =R b5k b5k b5k E5E E5E
41 B0 ET 1BH 1BH 1B#H * *
42 CFET(IHEFED) b5k b5k b5k * *
43 LS EET(EERE) B3 B3 B3 B3 B3
44 + N (18+F1H i ET) b5k b5k b5k E5E1 b5k
45 X FHET 1B#H 1B#H B3 B3 o)
46 1R b5k b5k b5k * *
47 BT (18 £ ALHT) 183 B3 B3 * *
48 EALET(IHERALET) b5k b5k b5k * *
49 BT (1H T HED B3 B3 B3 B3 o)
50 £ A BT (IBREMAAT) b5k b5k b5k * *
51 7N 4 Frid 1B#H 1B#H B3 B3 o)
52 LMWL 2) b5k b5k b5k * *
53 2> (1)1 AIET) B3 B3 B3 * *
54 &> (IHAMET) b5k b5k b5k * *
55 K EI#T * B * * *
56 BT b5k b5k b5k * *
57 BRI * B3 * * *
58 1 FH AT * b5k * * *
59 o (IRHEFRH) 183 1B#H 1B#H * *
60 & 4 JRET b5k E5E b5k * *
61 DH* % (IHAEHET) B B B * *
62 AT (IHZAET) b5k E5E b5k * *
63 2 B (IBFMEHR) B3 B3 B3 * *
64 AT (IHEEHR) b5k E5E b5k * *
65 2 A' % M (IB4aH) B3 B3 B3 * *
66 D H' % (IRFEEA) b5k E5E b5k * *
67 2N B (IREHH) B3 B3 B3 * *




o [X B Mz

a— K [Z0201030 70290360 70280040 70280020 70290100
R050901 2% |E-b EZURNCSY ) ESZUR 43v9)-HEHFB) =708
+AR® 21-8-40 W/C= | +K® 21-8-40 W/C= | £AR®-2 21-12-40 +AR®-2 21-12-40 +AR® 21-8-25(20)
s 55% 55% W/C=55% W/C=55% W/C=55%
Hh[X ==K (v m3 m3 m3 m3 m3
01 EFm(REHRT) o) B3 B3 B3 B3
02 T 1B8H 1B8E 1B 1B 1B8E
03 44~ EET(IHZ B ET) B3 B3 B3 B3 o)
04 5 58T 1B * 1B8H * 1B8H
05 ZEA B3 B3 B3 B3 B3
06 244 EET(IBF &) 1BH * 1B8E * 1B8E
07 44 BB (IB=EEAT) B3 * B3 * B3
08 LRI (IH3ARTH) 1B8H 1BH 1B8H 1B8H 1B8H
09 BFH B3 B3 B3 B3 B#H
10 AART (1BE AAY) 1B8H 1B8H 1B8H 1BH 1BH
11 3hgT (IR ER) B3 B3 B3 B3 B
12 mEEH 1B8H 1B8H 1BH 1B8H 1B8H
13 iz 7 (18 Bl ) B3 B3 B3 B3 B#H
14 KEEHET 1B8H 1B8H 1B8H 1BH 1BH
15 7)1l (IR E L)) B3 B3 B3 B3 B
16 H#xm (1BREA) 1B8E 1B8H 1B8H 1BH 1B
17 F) I (IR F&E ) B3 B3 B3 B3 B
18 FEIBET(IBE ) 1B8H 1BH 1B8H 1B8H 1B8E
19 & 183 B3 B3 B3 B#H
20 )1l (18%E o BIHY) 1B8H 1B8H 1B8H 1BH 1BH
21 N\Fm(BAFH) o) B3 B3 B3 B3
22 = =HT 1B 1B8H 1B8H 1B8H 1B8H
23 AFAT(IRAFHD) B3 B3 B3 B3 B
24 BFHET 1B8E 1B8H 1B8E 1BH 1BH
25 FIERAT(IH ) 1IHT) B3 B3 B3 B3 B3
26 FEERET(IHRIEEET) 1B 1B8E 1B 1B 1B8H
27 B& BT B3 B3 B3 B3 o)
28 FIERET(IBfEH#AT) 1B 1BE 1B 1B8E 1BH
29 NP (IREHH) B3 B3 B3 B3 o)
30 AFET(HAEH) 1B8H 1B 1B8H 1BH 1BH
31 A B3 B3 B3 B3 B
32 AR M (BARTIRS) 1B8H 1B8H 1B8H 1BH 1BH
33 ARANET B3 B3 B3 B3 B3
34 FHFF)IR T (B AHD) 1B8H 1B8H 1B8H 1B8H 1B8H
35 FriAlT(IH 2 H7) B3 B3 B3 B3 B3
36 #5MAT 1B 1B8E 1B 1B 1B8H
37 AR S (BHER) B3 B3 B3 B3 o)
38 FiAET(IH/VEK) 1B 1B8H 1B 1B8E 1BH
39 +MEH(B+FMES) B3 B3 B3 B3 B#H
40 =R 1B8H 1B8H 1B8H 1BH 1BH
41 BP0 T B3 B3 B3 B3 B3
42 EFET(IBEFHD) 1B8H 1BH 1B8H 1B8H 1B8H
43 LS EET(EERE) B3 B3 B3 B3 B
44 +MEA ™ (I8-+F0EHET) 1B8H 1BH 1B8H 1B8H 1B8H
45 XFHT 183 B3 B3 B3 B3
46 fE& AT 1B8H 1B8H 1B8H 1BH 1BH
47 BALET(IR £ 4LET) 183 B3 B3 B3 B#H
48 FAvET(IHER-LEY) 1B8H 1B 1B8H 1BH 1BH
49 BT (1H T HED B3 B3 B3 B3 B#H
50 £ A ET(IBR B4 1B8H 1B8H 1B8H 1BH 1BH
51 7N 4 Frid 183 B3 B3 B3 B#H
52 Lo (B o) 1B8H 1BH 1B8H 1B8H 1B8H
53 Lo (1R)IIET) B3 B3 B3 B3 B
54 £ (IBAMEET) 1B8H 1B8H 1B8H 1BH 1BH
55 AEET 183 * B3 * 1BH
56 BEF 1B8H 1BH 1B8H 1B8H 1B8H
57 BRI B3 * B3 * 1BH
58 fheF 4t 1B8H * 1B8E * 1B8H
59 & oW (IRREFRA) 183 B3 B3 B3 B#H
60 £ 4 RET 1B8H 1B8H 1B8H 1B8H 1B8H
61 21 B (IRAEHE) B3 B3 B3 B3 o)
62 SZHET(1HHED) 1B8H 1B8H 1B8H 1B8H 1B8H
63 2 B (IBFMEHR) B3 B3 B3 B3 o)
64 FHET(BE ) 1B8E 1B8H 1B8H 1BH 1BH
65 2 A' % M (IB4aH) B3 B3 B3 B3 o)
66 27' % (IBFEEHR) 1B8H 1B8H 1B8H 1B8H 1B8H
67 2N B (IREHH) B3 B3 B3 B3 o)




o [X B Mz

a— K [Z20290370 70280140 70280120 70290120 70280240
R050901 2% |E£)-HEIFB) ESZUR 423v9)-HE4FB) ESVZURI HEavp)-+
+ARO® 21-8-25(20) | £ARO®-2 21-12-25(20) | £ARD@-2 21-12-25(20) | £AG 21-8-40 W/C = | £A-2 21-12-40
s W/C=55% W/C=55% W/C=55% 45% C=300kg W/C=45% C=300kg
Hh[X ==K (v m3 m3 m3 m3 m3
01 EFm(REHRT) o) B3 B3 * *
02 FHHET b5k b5k Ei5E * *
03 4 » BT (IHEE HET) B B B * *
04 5 5\ ET * b5k * * *
05 ZEA B3 B3 B3 * *
06 44+ BT (IR FEEAT) * b5k * * *
07 4\ 4 BT (IR = BEAT) * o) * * *
08 sAgT T (IH3ART™) b5k b5k b5k * *
09 BFH 1BH 1B#H 1B#H * *
10 5477 (IR & AET) b5k b5k b5k * *
11 3hgT (IR ER) B3 1BH 1B#H * *
12 HEEN b5k b5k E5E * *
13 iz 7 (18 Bl ) B3 1B#H 1B#H * *
14 KESH] b5k b5k b5k * *
15 )1 (IHE £ BT) B3 B3 B3 * *
16 F#x (IRREET) b5k E5E1 b5k * *
17 F) I (IR F&E ) B3 1BH B#H * *
18 BRIGET (IR 8&AT) b5k b5k b5k * *
19 & 1B#H 1B#H 1B#H * *
20 )1 (IH%E o BBFY) b5k b5k b5k * *
21 AF#H(BAFT) o) B3 B3 B3 B3
22 ZFHT b5k b5k b5k E5E E5E
23 AFAT(IRAFHD) B3 1BH 1B#H * *
24 HFET b5k E5E b5k E5E b5k
25 FEERET(IR %) 11 HT) B3 B3 B3 B3 B3
26 EERET(IHES AR ET) b5k b5k Ei5E E5E b5k
27 B& BT B3 B3 B3 B3 o)
28 FERET (@A) b5k b5k b5k E5E b5k
29 \NFi (IR EH) B3 B3 B3 B3 o)
30 AFEI(HEGH) b5k b5k b5k * *
31 A B#H 1BH 1B#H * *
32 ARS8 EFR)IRS) Ei5E b5k E5E * *
33 ARANET B3 B3 B3 * *
34 AR (IBEAHE) b5k E5E b5k * *
35 R ET(IA 2 HT) B3 B3 B3 * *
36 E5HET E5E b5k b5k * *
37 AR S (BHER) B3 B3 B3 * *
38 #ARET(IB/vAR) E5E b5k b5k * *
39 +MEH(B+FMES) B3 1B#H 1B#H * *
40 =R b5k b5k b5k * *
41 B0 ET 1BH 1BH 1B#H 1B#H B
42 CFET(IHEFED) b5k b5k b5k E5E b5k
43 LS EET(EERE) B3 1B#H 1B#H * *
44 + N (18+F1H i ET) b5k b5k b5k * *
45 XFHT 1B#H 1B#H 1BH * *
46 1R b5k b5k b5k b5k b5k
47 BALET(IR £ 4LET) 1B#H 1B#H 1B#H 1B# B#H
48 EALET(IHERALET) b5k b5k b5k b5k b5k
49 BT (1H T HED B3 1B#H 1B#H * *
50 £ A BT (IBREMAAT) b5k b5k b5k b5k b5k
51 7N 4 Frid 1B#H 1B#H 1B#H * *
52 LMWL 2) b5k b5k b5k * *
53 2> (1)1 AIET) B3 B3 B3 * *
54 &> (IHAMET) b5k b5k b5k * *
55 K EI#T * B * * *
56 BT b5k b5k b5k * *
57 BRI * B3 * * *
58 1 FH AT * b5k * * *
59 o (IRHEFRH) 183 1B#H 1B#H * *
60 & 4 JRET b5k E5E b5k * *
61 DH* % (IHAEHET) B B B * *
62 AT (IHZAET) b5k E5E b5k * *
63 2 B (IBFMEHR) B3 B3 B3 * *
64 AT (IHEEHR) b5k E5E b5k * *
65 2 A' % M (IB4aH) B3 B3 B3 * *
66 D H' % (IRFEEA) b5k E5E b5k * *
67 2N B (IREHH) B3 B3 B3 * *




o [X B Mz

a— K [Z20280220 70290140 70280340 70280320 70201010
R050901 2% |E£)-HEIFB) ESZURN ESZUR EZURNCSY ) =708
+K@-2 21-12-40 AW 21-8-25(20) | £AM-2 21-12-25(20) | £AW-2 21-12-25(20) | £ A@-HEO® 24-8-
ik W/C=45% Cz300kg |W/C=45% C=330kg W/C=45C=330 W/C=45Cz330 25(20) W/C=55%
Ho X ==Ly m3 m3 m3 m3 m3

01 EFm(REHRT) * B3 EoE ) B3 B3
02 FHHET * b5k b5k E5E b5k
03 414 BT (IR EET) * B3 EoE ) B3 B3
04 5 5\ ET * b5k b5k * b5k
05 ZEA * 1B#H B3 B3 B3
06 4} 4 =BT (IHFEEH) * b5k b5k * b5k
07 4\ 4 BT (IR = BEAT) * o) B3 * B3
08 sAgT T (IH3ART™) * b5k b5k b5k b5k
09 BFH * 1B#H 1B#H BH 1B#H
10 5477 (IR & AET) * b5k b5k b5k b5k
11 3hgT (IR ER) * B3 1BH 1B BH
12 HEEN * b5k b5k E5E b5k
13 BRI HET (1R BRI EY) * B3 B#H B#H 1B#H
14 KESH] * b5k b5k b5k b5k
15 7)1l (IR E L)) * B3 B 1BH 1B#H
16 F#x (IRREET) * b5k b5k b5k b5k
17 )11 (R F 25 ) * B3 1BH 1B 1B
18 BRIGET (IR 8&AT) * b5k b5k b5k b5k
19 & * 1B#H 1B#H BH 1B#H
20 )1 (IH%E o BBFY) * b5k b5k b5k b5k
21 AF#H(BAFT) o) B3 B3 B3 B3
22 ZFHT b5k b5k b5k E5E E5E
23 AFBET(IRAFHE) B#H 1BH 1B#H 1B#H B
24 HFET b5k E5E b5k E5E b5k
25 FEERET(IR %) 11 HT) B3 B3 B3 B3 B3
26 EERET(IHES AR ET) b5k b5k Ei5E E5E b5k
27 B EHET BH B3 B3 B3 o)
28 FEERET (1B & ) b5k b5k b5k E5E b5k
29 \NFi (IR EH) B3 B3 B3 B3 o)
30 AFEI(HEGH) b5k b5k b5k b5k b5k
31 A B#H 1BH 1B#H 1B#H B
32 AR (BER)IRE) * b5k b5k b5k b5k
33 ARANET * 1B#H B3 B3 B3
34 AR (IBEAHE) * b5k b5k b5k b5k
35 R ET(IA 2 HT) * B3 B3 B3 B3
36 E5HET * b5k b5k b5k b5k
37 AR IR (IBHR) * B3 B3 B3 B3
38 #ARET(IB/vAR) * b5k b5k b5k b5k
39 +MEH(B+FMES) 1BH 1B#H 1B#H 1B# B#H
40 =R b5k b5k b5k b5k b5k
41 B30 E] 1BH 1BH 1B#H 1B#H B
42 CFET(IHEFED) b5k b5k b5k E5E b5k
43 LS EET(EERE) 1BH 1B#H 1B#H 1B#H B
44 + N (18+F1H i ET) b5k b5k b5k E5E b5k
45 X FHET 1B#H 1B#H 1BH 1B# B#H
46 1R b5k b5k b5k b5k b5k
47 BALET(IR £ 4LET) 1B#H 1B#H 1B#H 1B# B#H
48 EALET(IHERALET) b5k b5k b5k b5k b5k
49 BT (1H T HED 1BH 1B#H 1B#H 1B# B#H
50 + F ET (IR X FEARAT) b5k b5k b5k b5k b5k
51 7N 4 Frid 1B#H 1B#H 1B#H 1B# B#H
52 LMWL 2) * b5k b5k b5k b5k
53 &2 (IR)IIP9ET) * B3 1B#H BH 1B#H
54 &> (IHAMET) * b5k b5k b5k b5k
55 AEET * 1B#H 1B#H * 1BH
56 BT * b5k b5k b5k b5k
57 BRI * BH B#H * 1BH
58 1 FH AT * b5k b5k * b5k
59 o (IRHEFRH) * B3 1B#H BH 1B#H
60 #2 4 JRHET * b5k b5k b5k b5k
61 21 B (IRAEHE) * B3 EoE ) B3 B3
62 AT (IHZAET) * b5k b5k b5k b5k
63 2 B (IBFMEHR) * B3 EoE ) B3 B3
64 FEET(IHA IEH) * b5k b5k b5k b5k
65 2 A' % M (IB4aH) * B3 EoE ) B3 B3
66 D H' % (IRFEEA) * b5k b5k b5k b5k
67 2N B (IREHH) * B3 o) B3 B3

—5—




o [X B Mz

a— K [Z0290380 70202010 70291380 70201035 70290390
R050901 2% |E£))-HEIFB) H)-+ 41079~ HEHFB) ESZUR 42v7)-HEHFB)
T AR@-HEEDDG 24-8- | £A@-2 24-12-25(20) | £ARD-2 24-12-25(20) | £AB) - HZ@W@ 24-8- +ADB - #HEE@® 24-8-
s 25(20) W/C=55% W/C=55% W/C=55% 40 W/C=55% 40 W/C=55%
Hh[X ==K (v m3 m3 m3 m3 m3

01 EFm(REHRT) o) B3 B3 B3 B3
02 FHHET b5k b5k Ei5E b5k b5k
03 414 BT (IR EET) B3 B3 B3 B3 o)

04 5 5\ ET * b5k * b5k *
05 ZEA BH B3 B3 B3 B3

06 4} 4 =BT (IHFEEH) * b5k * b5k *

07 4\ 4 BT (IR = BEAT) * o) * B3 *
08 sAgT T (IH3ART™) b5k b5k b5k E5E b5k
09 BFH 1BH 1B#H 1B#H 1B# B#H
10 5477 (IR & AET) b5k b5k b5k b5k b5k
11 3hgT (IR ER) B#H 1BH 1B#H 1B#H B
12 HEEN b5k b5k E5E b5k b5k
13 iz 7 (18 Bl ) 1BH 1B#H 1B#H 1B# B#H
14 KESH] b5k b5k b5k b5k b5k
15 7)1l (IR E L)) 1BH 1BH 1B#H 1B#H B
16 F#x (IRREET) b5k E5E1 b5k b5k b5k
17 F) I (IR F&E ) B#H 1BH B#H 1BH B
18 BRIEET (1B F 84 b5k b5k b5k b5k b5k
19 & 1B#H 1B#H 1B#H 1B# B#H
20 )1 (IH%E o BBFY) b5k b5k b5k b5k b5k
21 AF#H(BAFT) o) B3 B3 B3 B3
22 ZFHT b5k b5k b5k E5E E5E
23 AFBET(IRAFHE) B#H 1BH 1B#H 1B#H B
24 HFET b5k E5E b5k E5E b5k
25 FEERET(IR %) 11 HT) B3 B3 B3 B3 B3
26 EERET(IHES AR ET) b5k b5k Ei5E E5E b5k
27 B& BT BH B3 B3 B3 o)
28 FERET (@A) b5k b5k b5k E5E b5k
29 \NFi (IR EH) B3 B3 B3 B3 o)
30 AFEI(HEGH) b5k b5k b5k b5k b5k
31 A B#H 1BH 1B#H 1B#H B
32 AR (BER)IRE) Ei5E b5k E5E E5E b5k
33 ARANET BH B3 B3 B3 B3
34 AR (IBEAHE) b5k E5E b5k E5E1 b5k
35 R ET(IA 2 HT) B3 B3 B3 B3 B3
36 E5HET E5E b5k b5k E5E b5k
37 AR S (BHER) B3 B3 B3 B3 o)
38 #ARET(IB/vAR) E5E b5k b5k E5E b5k
39 +MEH(B+FMES) 1BH 1B#H 1B#H 1B# B#H
40 =R b5k b5k b5k b5k b5k
41 B30 E] 1BH 1BH 1B#H 1B#H B
42 CFET(IHEFED) b5k b5k b5k E5E b5k
43 LS EET(EERE) 1BH 1B#H 1B#H 1B#H B
44 + N (18+F1H i ET) b5k b5k b5k E5E b5k
45 X FHET 1B#H 1B#H 1BH 1B# B#H
46 1R b5k b5k b5k b5k b5k
47 BALET(IR £ 4LET) 1B#H 1B#H 1B#H 1B# B#H
48 EALET(IHERALET) b5k b5k b5k b5k b5k
49 BT (1H T HED 1BH 1B#H 1B#H 1B# B#H
50 £ A BT (IBREMAAT) b5k b5k b5k b5k b5k
51 7N 4 Frid 1B#H 1B#H 1B#H 1B# B#H
52 LMWL 2) b5k b5k b5k E5E b5k
53 Lo (1R)IIET) 1BH 1B#H 1B#H 1B#H B
54 &> (IHAMET) b5k b5k b5k b5k b5k

55 AEET * 1B#H * 1B#H *
56 BT b5k b5k b5k E5E b5k

57 BRI * BH * 1B#H *

58 1 FH AT * b5k * b5k *
59 o (IRHEFRH) 1B#H 1B#H 1B#H 1B# B#H
60 & 4 JRET b5k E5E b5k E5E1 b5k
61 21 B (IRAEHE) B3 B3 B3 B3 o)
62 AT (IHZAET) b5k E5E b5k E5E1 b5k
63 2 B (IBFMEHR) B3 B3 B3 B3 o)
64 AT (IHEEHR) b5k E5E b5k b5k b5k
65 2 A' % M (IB4aH) B3 B3 B3 B3 o)
66 DA% (IHFRER) b5k E5E b5k E5E1 b5k
67 2N B (IREHH) B3 B3 B3 B3 o)




o [X B Mz

a—F 70280440 70280420 70290180 70280620 70290190
R050901 E ) E19Y-+ £277)-E4FB) HEa9Y-+ Ea9Y-+ Ea9Y-+
+ARB-2 24-12-40 +ARB-2 24-12-40 1K@ 24-8-25(20) +RW®-2 24-12-25(20) | £AW®-1 30-18-40
e W/C=55% W/C=55% W/C=55% C=300kg |W/C=55C=300 W/C=55% C=350kg
Ho X ==Ly m3 m3 m3 m3 m3
01 EHZM(REHD) 15 15 15 15 15H
02 FPHT B B B B B
03 4} 4 S MT (IR HHET) $5H 15 15 15 15H
04 5 5ET B * B B *
05 ZEMAY 15 15 15 15 15H
06 41+ =BT (IRFEEAN) B * B B *
07 4} 4 =R (IR = BEAY) 15 * 15H 15H *
08 3hgT (IHBARTT) B B B B *
09 2R 15H 15H 15H 15H *
10 LR (IHEARE]) B B B B *
11 3haTH (BB 15H 15H 15H 15H *
12 BEE B B B B *
13 Brles 7 (15 BRIGHT) 15H 15H 15H 15H *
14 Ky B B B B *
15 )1l (IHE L) 15H 15H 15H 15H *
16 Hixm (IHRFEAT) B B B B *
17 ) (IHFE ) 15H 15H 15H 15H *
18 BRISHET (1A% 8AY) B B B B *
19 B&ERN 15H 15H 15H 15H *
20 F)1I (1IREE BN B B B B *
21 AFH(RAF) 15 15 15 15 15H
22 ZFH1 B B B B B
23 AFEI(IRAFHD) 15H 15H 15H 15H *
24 HFHT B B B B B
25 FgERET (IR 4 ) 11ET) 15 $5H 15 15 15H
26 FAERET(IREIARET) B B B B B
27 B LHT 15 $5H $5H 15 15H
28 FAERET(IREHAY) B B B B B
29 \Fih (IRFEEA) $5H 15 15 15 15H
30 AFAT(IHEAN) B B B B *
31 FHpAY 15H 15H 15H 15H *
32 AFIIRT (IBREFIIERT) B B B B *
33 AR MNET 15 15 15 15 *
34 AT IR (IHEAHT) B B B B *
35 FIART (1A A7) 15 $5H 15 15 *
36 #BMHET B B B B *
37 AFIRT (B ER) $5H $5H 15 15 *
38 AEAT(IR/VAN) B B B B *
39 +Fm (B+FIET) 15H 15H 15H 15H *
40 =R B B B B *
41 B0 ET 15H 15H 15H 15H *
42 EFET(IRCFED) B B B B *
43 L L ERI(IRERAET) 15H 15H 15H 15H *
44 +F1E ™ (IB+-FE ) B B B B *
45 FXFHET 15H 15H 15H 15H *
46 1EAT B B B B *
47 HALET (1A _EALET) 15H 15H 15H 15H *
48 HALAT(IHERALET) B B B B *
49 B\ 5 BT (IH T HHAT) 15H 15H 15H 15H *
50 t FHET(IRREMA) B B B B *
51 X4 Pty 15H 15H 15H 15H *
52 Lom (AL >H) B B B B *
53 L1 (IH)IIRE]) 15H 15H 15H 15H *
54 £ > (IHAJHAT) B B B B *
55 K[y 15H * $5H 15H *
56 FLEAT B B B B *
57 B 15H * 15H $5H *
58 A B * B B *
59 L > (IHBE R 15H 15H 15H 15H *
60 4 RHET B B B B *
61 2 1' % (IRAIEHT) $5H 15 15 15 *
62 R EAET (IR B B B B *
63 D' 3 (IRFREH) $5H 15 15 15 *
64 R AAET (IR EIEN) B B B B *
65 D' % i (IRHH) $5H 15 15 15 *
66 0 H' % (IRFRIEM) B B B B *
67 13 (IRENH) $5H 15 15 15 *




o [X B Mz

a— K [Z0201080 70201015 70280820 70280840 70290220
R050901 2% |E-b ESZUR ESZUR E))-HE8) =708
+AR@®-2 30-18-25(20) | £ 30-8-25(20) | £AK®-2 30-12-25(20) | £AG®-2 30-12-25(20) | A 36-8-25(20)
s W/C=55Cz=350 W/C=55% W/C=55% W/C=55% W/C=55%
Hh[X ==K (v m3 m3 m3 m3 m3
01 EFm(REHRT) o) B3 B3 B3 B3
02 T 1B8H 1B8E 1B 1B 1B8E
03 44~ EET(IHZ B ET) B3 B3 B3 B3 o)
04 5 58T 1B 1B8H 1B8H 1B8H 1B8H
05 ZEA B3 B3 B3 B3 B3
06 244 EET(IBF &) 1BH 1B8H 1B8H 1B8H 1B8E
07 44 BB (IB=EEAT) B3 B3 B3 B3 B3
08 LRI (IH3ARTH) 1B8H 1BH 1B8H 1B8H 1B8H
09 BFH B3 B3 B3 B3 B#H
10 AART (1BE AAY) 1B8H 1B8H 1B8H 1BH 1BH
11 3hgT (IR ER) B3 B3 B3 B3 B
12 mEEH 1B8H 1B8H 1BH 1B8H 1B8H
13 iz 7 (18 Bl ) B3 B3 B3 B3 B#H
14 KEEHET 1B8H 1B8H 1B8H 1BH 1BH
15 7)1l (IR E L)) B3 B3 B3 B3 B
16 H#xm (1BREA) 1B8E 1B8H 1B8H 1BH 1B
17 F) I (IR F&E ) B3 B3 B3 B3 B
18 FEIBET(IBE ) 1B8H 1BH 1B8H 1B8H 1B8E
19 & 183 B3 B3 B3 B#H
20 )1l (18%E o BIHY) 1B8H 1B8H 1B8H 1BH 1BH
21 N\Fm(BAFH) o) B3 B3 B3 B3
22 = =HT 1B 1B8H 1B8H 1B8H 1B8H
23 AFAT(IRAFHD) B3 B3 B3 B3 B
24 BFHET 1B8E 1B8H 1B8E 1BH 1BH
25 FIERAT(IH ) 1IHT) B3 B3 B3 B3 B3
26 FEERET(IHRIEEET) 1B 1B8E 1B 1B 1B8H
27 B& BT B3 B3 B3 B3 o)
28 FIERET(IBfEH#AT) 1B 1BE 1B 1B8E 1BH
29 NP (IREHH) B3 B3 B3 B3 o)
30 AFET(HAEH) 1B8H 1B 1B8H 1BH 1BH
31 A B3 B3 B3 B3 B
32 AR M (BARTIRS) 1B8H 1B8H 1B8H 1BH 1BH
33 ARANET B3 B3 B3 B3 B3
34 FHFF)IR T (B AHD) 1B8H 1B8H 1B8H 1B8H 1B8H
35 FriAlT(IH 2 H7) B3 B3 B3 B3 B3
36 #5MAT 1B 1B8E 1B 1B 1B8H
37 AR S (BHER) B3 B3 B3 B3 o)
38 FiAET(IH/VEK) 1B 1B8H 1B 1B8E 1BH
39 +MEH(B+FMES) B3 B3 B3 B3 B#H
40 =R 1B8H 1B8H 1B8H 1BH 1BH
41 BP0 T B3 B3 B3 B3 B3
42 EFET(IBEFHD) 1B8H 1BH 1B8H 1B8H 1B8H
43 LS EET(EERE) B3 B3 B3 B3 B
44 +MEA ™ (I8-+F0EHET) 1B8H 1BH 1B8H 1B8H 1B8H
45 XFHT 183 B3 B3 B3 B3
46 fE& AT 1B8H 1B8H 1B8H 1BH 1BH
47 BALET(IR £ 4LET) 183 B3 B3 B3 B#H
48 FAvET(IHER-LEY) 1B8H 1B 1B8H 1BH 1BH
49 BT (1H T HED B3 B3 B3 B3 B#H
50 £ A ET(IBR B4 1B8H 1B8H 1B8H 1BH 1BH
51 7N 4 Frid 183 B3 B3 B3 B#H
52 Lo (B o) 1B8H 1BH 1B8H 1B8H 1B8H
53 Lo (1R)IIET) B3 B3 B3 B3 B
54 £ (IBAMEET) 1B8H 1B8H 1B8H 1BH 1BH
55 AEET 183 B3 B3 * BH
56 BEF 1B8H 1BH 1B8H 1B8H 1B8H
57 BRI B3 B3 B3 * B#H
58 fheF 4t 1B8H 1B8H 1B8H * 1B8H
59 & oW (IRREFRA) 183 B3 B3 B3 B#H
60 £ 4 RET 1B8H 1B8H 1B8H 1B8H 1B8H
61 21 B (IRAEHE) B3 B3 B3 B3 o)
62 SZHET(1HHED) 1B8H 1B8H 1B8H 1B8H 1B8H
63 2 B (IBFMEHR) B3 B3 B3 B3 o)
64 FHET(BE ) 1B8E 1B8H 1B8H 1BH 1BH
65 2 A' % M (IB4aH) B3 B3 B3 B3 o)
66 27' % (IBFEEHR) 1B8H 1B8H 1B8H 1B8H 1B8H
67 2N B (IREHH) B3 B3 B3 B3 o)




o [X B Mz

a— K [Z20280920 70280940 70201245 70281020 70281040
R050901 2% |E-b Ev7)-HE8) E7)-HE8) ESZUR E7)-HE8)
+AR@-2 36-12-25(20) | £A@-2 36-12-25(20) | £ ARG 40-8-25(20) | £ARM®-2 40-12-25(20) | =A@-2 40-12-25(20)
s W/C=55% W/C=55% W/C=55% W/C=55% W/C=55%
Hh[X ==K (v m3 m3 m3 m3 m3

01 EFm(REHRT) o) B3 B3 B3 B3
02 T 1B8H 1B8E 1B 1B 1B8E
03 44~ EET(IHZ B ET) B3 B3 B3 B3 o)
04 5 58T 1B 1B8H 1B8H 1B8H 1B8H
05 ZEA B3 B3 B3 B3 B3
06 244 EET(IBF &) 1BH 1B8H 1B8H 1B8H 1B8E
07 44 BB (IB=EEAT) B3 B3 B3 B3 B3
08 LRI (IH3ARTH) 1B8H 1BH 1B8H 1B8H 1B8H
09 BFH B3 B3 B3 B3 B#H
10 AART (1BE AAY) 1B8H 1B8H 1B8H 1BH 1BH
11 3hgT (IR ER) B3 B3 B3 B3 B
12 mEEH 1B8H 1B8H 1BH 1B8H 1B8H
13 iz 7 (18 Bl ) B3 B3 B3 B3 B#H
14 KEEHET 1B8H 1B8H 1B8H 1BH 1BH
15 7)1l (IR E L)) B3 B3 B3 B3 B
16 H#xm (1BREA) 1B8E 1B8H 1B8H 1BH 1B
17 F) I (IR F&E ) B3 B3 B3 B3 B
18 FEIBET(IBE ) 1B8H 1BH 1B8H 1B8H 1B8E
19 & 183 B3 B3 B3 B#H
20 )1l (18%E o BIHY) 1B8H 1B8H 1B8H 1BH 1BH
21 N\Fm(BAFH) o) B3 B3 B3 B3
22 = =HT 1B 1B8H 1B8H 1B8H 1B8H
23 AFAT(IRAFHD) B3 B3 B3 B3 B
24 BFHET 1B8E 1B8H 1B8E 1BH 1BH
25 FIERAT(IH ) 1IHT) B3 B3 B3 B3 B3
26 FEERET(IHRIEEET) 1B 1B8E 1B 1B 1B8H
27 B& BT B3 B3 B3 B3 o)
28 FIERET(IBfEH#AT) 1B 1BE 1B 1B8E 1BH
29 NP (IREHH) B3 B3 B3 B3 o)
30 AFET(HAEH) 1B8H 1B 1B8H 1BH 1BH
31 A B3 B3 B3 B3 B
32 AR M (BARTIRS) 1B8H 1B8H 1B8H 1BH 1BH
33 ARANET B3 B3 B3 B3 B3
34 FHFF)IR T (B AHD) 1B8H 1B8H 1B8H 1B8H 1B8H
35 FriAlT(IH 2 H7) B3 B3 B3 B3 B3
36 #5MAT 1B 1B8E 1B 1B 1B8H
37 AR S (BHER) B3 B3 B3 B3 o)
38 FiAET(IH/VEK) 1B 1B8H 1B 1B8E 1BH
39 +MEH(B+FMES) B3 B3 B3 B3 B#H
40 =R 1B8H 1B8H 1B8H 1BH 1BH
41 BP0 T B3 B3 B3 B3 B3
42 EFET(IBEFHD) 1B8H 1BH 1B8H 1B8H 1B8H
43 LS EET(EERE) B3 B3 B3 B3 B
44 +MEA ™ (I8-+F0EHET) 1B8H 1BH 1B8H 1B8H 1B8H
45 XFHT 183 B3 B3 B3 B3
46 fE& AT 1B8H 1B8H 1B8H 1BH 1BH
47 BALET(IR £ 4LET) 183 B3 B3 B3 B#H
48 FAvET(IHER-LEY) 1B8H 1B 1B8H 1BH 1BH
49 BT (1H T HED B3 B3 B3 B3 B#H
50 £ A ET(IBR B4 1B8H 1B8H 1B8H 1BH 1BH
51 7N 4 Frid 183 B3 B3 B3 B#H
52 Lo (B o) 1B8H 1BH 1B8H 1B8H 1B8H
53 Lo (1R)IIET) B3 B3 B3 B3 B
54 £ (IBAMEET) 1B8H 1B8H 1B8H 1BH 1BH

55 AEET 183 * * 1BH *
56 BEF 1B8H 1BH 1B8H 1B8H 1B8H

57 BRI B3 * * 1BH *

58 fheF 4t 1B8H * * 1B8H *
59 & oW (IRREFRA) 183 B3 B3 B3 B#H
60 £ 4 RET 1B8H 1B8H 1B8H 1B8H 1B8H
61 21 B (IRAEHE) B3 B3 B3 B3 o)
62 SZHET(1HHED) 1B8H 1B8H 1B8H 1B8H 1B8H
63 2 B (IBFMEHR) B3 B3 B3 B3 o)
64 FHET(BE ) 1B8E 1B8H 1B8H 1BH 1BH
65 2 A' % M (IB4aH) B3 B3 B3 B3 o)
66 27' % (IBFEEHR) 1B8H 1B8H 1B8H 1B8H 1B8H
67 2N B (IREHH) B3 B3 B3 B3 o)




o [X B Mz

a— K [Z0201085 70291200 70290250 70291210 70291010
R050901 2 |[E-MTIBEL) %;/WJ_HEXFBI%E =708 £7)-+HEAFB) =708
+ARG-1 g11F4.5-2.5- | +ARO-1 #hiF4.5-2.5- |+£ARO-2 #h1F4.5-6.5- | £AO-2 #h1F4.5-6.5- |HEHE@ 18-8-40 W/C=
s 40 W/C=55% 40 W/C=55% 40 W/C=55% 40 W/C=55% 65%
Ho X ==Ly m3 m3 m3 m3 m3

01 EFm(REHRT) o) B3 B3 B3 B3
02 FHHET b5k b5k Ei5E b5k b5k
03 4 » BT (IHEE HET) * * B B B
04 5-BIET * * b5k * b5k
05 ZEA * * B3 B3 B3
06 4} 4 =BT (IHFEEH) Ei5E * b5k * b5k
07 4\ 4 BT (IR = BEAT) B3 * B3 * B3
08 sAgT T (IH3ART™) b5k b5k b5k E5E b5k
09 BFH 1BH 1B#H 1B#H 1B# B#H
10 5477 (IR & AET) b5k b5k b5k b5k b5k
11 3hgT (IR ER) B#H 1BH 1B#H 1B#H B
12 HEEN b5k b5k E5E b5k b5k
13 iz 7 (18 Bl ) 1BH 1B#H 1B#H 1B# B#H
14 KESH] b5k b5k b5k b5k b5k
15 7)1l (IR E L)) 1BH 1BH 1B#H 1B#H B
16 F#x (IRREET) b5k E5E1 b5k b5k b5k
17 F) I (IR F&E ) B#H 1BH B#H 1BH B
18 BRIEET (1B F 84 b5k b5k b5k b5k b5k
19 & 1B#H 1B#H 1B#H 1B# B#H
20 )1 (IH%E o BBFY) b5k b5k b5k b5k b5k
21 AF#H(BAFT) o) B3 B3 B3 B3
22 ZFHT b5k b5k b5k E5E E5E
23 AFBET(IRAFHE) B#H 1BH 1B#H 1B#H B
24 HFET b5k E5E b5k E5E b5k
25 FEERET(IR %) 11 HT) B3 B3 B3 B3 B3
26 EERET(IHES AR ET) b5k b5k Ei5E E5E b5k
27 B& BT B3 B3 B3 B3 o)
28 FERET (@A) b5k b5k b5k E5E b5k
29 \NFi (IR EH) B3 B3 B3 B3 o)
30 AFEI(HEGH) b5k b5k b5k b5k b5k
31 A B#H 1BH 1B#H 1B#H B
32 AR (BER)IRE) Ei5E b5k E5E E5E b5k
33 ARANET BH B3 B3 B3 B3
34 AR (IBEAHE) b5k E5E b5k E5E1 b5k
35 R ET(IA 2 HT) * * B3 B3 B3
36 E5HET E5E b5k b5k E5E b5k
37 AR S (BHER) B3 B3 B3 B3 o)
38 #ARET(IB/vAR) E5E b5k b5k E5E b5k
39 +MEH(B+FMES) 1BH 1B#H 1B#H 1B# B#H
40 =R b5k b5k b5k b5k b5k
41 B30 E] 1BH * B * 1B#H
42 CFET(IHEFED) b5k * b5k * b5k
43 LS EET(EERE) 1BH 1B#H 1B#H 1B#H B
44 + N (18+F1H i ET) b5k b5k b5k E5E b5k
45 X FHET 1B#H 1B#H 1BH 1B# B#H
46 1R b5k * b5k * b5k
47 BALET(IR £ 4LET) 1B#H * 1B#H * 1BH
48 EALET(IHERALET) b5k * b5k * b5k
49 BT (1H T HED 1BH 1B#H 1B#H 1B# B#H
50 + F ET (IR X FEARAT) b5k * b5k * b5k
51 7N 4 Frid 1B#H 1B#H 1B#H 1B# B#H
52 LMWL 2) b5k * b5k * b5k
53 &0 (1A)IIPIHEY) 1BH * 1B#H * 1BH
54 &> (IHAMET) b5k * b5k * b5k
55 K EI#T * * * * B
56 BT b5k * b5k * b5k
57 BRI * * * * 1BH
58 fEH T * * * * Ei5E
59 o (IRHEFRH) * * B3 * 1B#H
60 #2 4 JRHET b5k E5E b5k E5E1 b5k
61 21 B (IRAEHE) B3 B3 B3 B3 o)
62 AT (IHZAET) * * b5k b5k b5k
63 2 B (IBFMEHR) B3 B3 B3 B3 o)
64 AT (IHEEHR) * * b5k b5k b5k
65 2 A' % M (IB4aH) B3 B3 B3 B3 o)
66 D H' % (IRFEEA) b5k E5E b5k E5E1 b5k
67 2N B (IREHH) B3 B3 B3 B3 o)




o [X B Mz

a— K [Z20290420 70291070 70290400 70291080 70290410
R050901 2 |E7-MEIFB) ESZURN £7)-+HEAFB) ESZUR £7)-+HE4FB)
HBE@ 18-8-40 W/C= |#E®© 21-8-25(20) HEO© 21-8-25(20) HEW 21-8-40 W/C= |#E@© 21-8-40 W/C=
s 65% W/C=60% W/C=60% 60% 60%
Hh[X ==K (v m3 m3 m3 m3 m3

01 EFm(REHRT) o) B3 B3 B3 B3
02 FHHET b5k b5k Ei5E b5k b5k
03 414 BT (IR EET) B3 B3 B3 B3 o)

04 5 5\ ET * b5k * b5k *
05 ZEA BH B3 B3 B3 B3

06 4} 4 =BT (IHFEEH) * b5k * b5k *

07 4\ 4 BT (IR = BEAT) * o) * B3 *
08 sAgT T (IH3ART™) b5k b5k b5k E5E b5k
09 BFH 1BH 1B#H 1B#H 1B# B#H
10 5477 (IR & AET) b5k b5k b5k b5k b5k
11 3hgT (IR ER) B#H 1BH 1B#H 1B#H B
12 HEEN b5k b5k E5E b5k b5k
13 iz 7 (18 Bl ) 1BH 1B#H 1B#H 1B# B#H
14 KESH] b5k b5k b5k b5k b5k
15 7)1l (IR E L)) 1BH 1BH 1B#H 1B#H B
16 F#x (IRREET) b5k E5E1 b5k b5k b5k
17 F) I (IR F&E ) B#H 1BH B#H 1BH B
18 BRIEET (1B F 84 b5k b5k b5k b5k b5k
19 & 1B#H 1B#H 1B#H 1B# B#H
20 )1 (IH%E o BBFY) b5k b5k b5k b5k b5k
21 AF#H(BAFT) o) B3 B3 B3 B3
22 ZFHT b5k b5k b5k E5E E5E
23 AFBET(IRAFHE) B#H 1BH 1B#H 1B#H B
24 HFET b5k E5E b5k E5E b5k
25 FEERET(IR %) 11 HT) B3 B3 B3 B3 B3
26 EERET(IHES AR ET) b5k b5k Ei5E E5E b5k
27 B& BT BH B3 B3 B3 o)
28 FERET (@A) b5k b5k b5k E5E b5k
29 \NFi (IR EH) B3 B3 B3 B3 o)
30 AFEI(HEGH) b5k b5k b5k b5k b5k
31 A B#H 1BH 1B#H 1B#H B
32 AR (BER)IRE) Ei5E b5k E5E E5E b5k
33 ARANET BH BH B3 B3 B3
34 AR (IBEAHE) b5k E5E b5k E5E1 b5k
35 R ET(IA 2 HT) B3 B3 B3 B3 B3
36 E5HET E5E b5k b5k E5E b5k
37 AR S (BHER) B3 B3 B3 B3 o)
38 #ARET(IB/vAR) E5E b5k b5k E5E b5k
39 +MEH(B+FMES) 1BH 1B#H 1B#H 1B# B#H
40 =R b5k b5k b5k b5k b5k
41 B30 E] 1BH 1BH 1B#H 1B#H B
42 CFET(IHEFED) b5k b5k b5k E5E b5k
43 LS EET(EERE) 1BH 1B#H 1B#H 1B#H B
44 + N (18+F1H i ET) b5k b5k b5k E5E b5k
45 X FHET 1B#H 1B#H 1BH 1B# B#H
46 1R b5k b5k b5k b5k b5k
47 BALET(IR £ 4LET) 1B#H 1B#H 1B#H 1B# B#H
48 EALET(IHERALET) b5k b5k b5k b5k b5k
49 BT (1H T HED 1BH 1B#H 1B#H 1B# B#H
50 £ A BT (IBREMAAT) b5k b5k b5k b5k b5k
51 7N 4 Frid 1B#H 1B#H 1B#H 1B# B#H
52 LMWL 2) b5k b5k b5k E5E b5k
53 Lo (1R)IIET) 1BH 1B#H 1B#H 1B#H B
54 &> (IHAMET) b5k b5k b5k b5k b5k

55 AEET * 1B#H * 1B#H *
56 BT b5k b5k b5k E5E b5k

57 BRI * BH * 1B#H *

58 1 FH AT * b5k * b5k *
59 o (IRHEFRH) 1B#H 1B#H 1B#H 1B# B#H
60 & 4 JRET b5k E5E b5k E5E1 b5k
61 21 B (IRAEHE) B3 B3 B3 B3 o)
62 AT (IHZAET) b5k E5E b5k E5E1 b5k
63 2 B (IBFMEHR) B3 B3 B3 B3 o)
64 AT (IHEEHR) b5k E5E b5k b5k b5k
65 2 A' % M (IB4aH) B3 B3 B3 B3 o)
66 DA% (IHFRER) b5k E5E b5k E5E1 b5k
67 2N B (IREHH) B3 B3 B3 B3 o)




o [X B Mz

a— K [Z0291090 20291100 20291130 20291135 20291140
R050901 ZF | E-t H)-+ H)-+ 41079~ HEHFB) £-MIHEL)
B 24-8-25(20) HBD 24-8-40 W/C= B® 24-12-25(20) | #EB® 24-12-25(20) | . .
s W/C=60% 60% W/C=50% W/C=50% AR #174.5-25-40
Ho X ==Ly m3 m3 m3 m3 m3
01 FExm(RERKR) B# B# BH B# 1BH
02 FHHET b5k b5k Ei5E b5k b5k
03 44 BT (IR 5 M ET) BH 1B#H 1B#H 1B#H *
04 5 5\ ET b5k b5k b5k * *
05 M B# BH 1B# 1B# *
06 4} 4 =BT (IHFEEH) Ei5E b5k E5E * E5E
07 4k EET(1IR = BEAT) BH BH BH * B#H
08 ahgIm (IHAART™) b5k b5k b5k E5E b5k
09 BAH B B B# B#; B#
10 5477 (IR & AET) b5k b5k b5k b5k b5k
11 5ARTH (BB EBAT) B B#; B# B#; B#
12 HEEN b5k b5k E5E b5k b5k
13 BRI HET (1R BRI EY) B B# B# B#; B#
14 KESH] b5k b5k b5k b5k b5k
15 )1/ (152 L E) B B# B# B# B#
16 F#x (IRREET) b5k E5E1 b5k b5k b5k
17 )11 (R F 25 ) B B B# B#; B#
18 BRIEET (1B F 84 b5k b5k b5k b5k b5k
19 A& A B B# B# B#; B#
20 )1 (IH%E o BBFY) b5k b5k b5k b5k b5k
21 AF#(RAFS) B# B# BH B# 1BH
22 ZFHT b5k b5k b5k E5E E5E
23 AFEI(RAFET) B# B# B# B# B#
24 HFET b5k E5E b5k E5E b5k
25 FIERET (IR %) 11ET) BH BH 1B# 1B# B#
26 EERET(IHES AR ET) b5k b5k Ei5E E5E b5k
27 B EAT B# BH 1B#H 1B#H 1B#
28 FERET (@A) b5k b5k b5k E5E b5k
29 A\Fr(IREg#H) 1BH 1B#H 1B#H 1B#H 1B#
30 AFEI(HEGH) b5k b5k b5k b5k b5k
31 FrEAS B# B#; B# B#; B#
32 AR (BER)IRE) Ei5E b5k E5E E5E b5k
33 ARANET B# B# 1B# 1B# B#
34 AR (IBEAHE) b5k E5E b5k E5E1 b5k
35 FiAET (IR o B2 ET) BH BH 1B# 1B# *
36 E5HET E5E b5k b5k E5E b5k
37 AR IR (IBHR) 1BH BH 1B#H 1B#H 1B#
38 #ARET(IB/vAR) E5E b5k b5k E5E b5k
39 +AIEM (IB+HMEH) B B# B# B#; B#
40 =R b5k b5k b5k b5k b5k
41 B30 BT B B# B# B# B#
42 CFET(IHEFED) b5k b5k b5k E5E b5k
43 LS EET(IHEAE) B B B# B# B#
44 + N (18+F1H i ET) b5k b5k b5k E5E b5k
45 RFHT B B# B#; B#; B#
46 1R b5k b5k b5k b5k b5k
47 SeET(1A _EALET) B B# B# B#; B#
48 EALET(IHERALET) b5k b5k b5k b5k b5k
49 B\ 5 ET(IH T HEHET) B B B# B#; B#
50 £ A BT (IBREMAAT) b5k b5k b5k b5k b5k
51 /X4 Akt B B# B# B#; B#
52 LMWL 2) b5k b5k b5k E5E b5k
53 &0 (1A)IIPIHEY) B B B# B# B#
54 &> (IHAMET) b5k b5k b5k b5k b5k
55 K RIET B B# B# * *
56 BT b5k b5k b5k E5E b5k
57 BRI B B# B# * *
58 1 FH AT b5k b5k b5k * *
59 Lo (AMERH) B B# B# B#; *
60 & 4 JRET b5k E5E b5k E5E1 b5k
61 DA B (IHAEET) BH 1B#H 1B#H 1B#H 1B#
62 AT (IHZAET) b5k E5E b5k E5E1 *
63 oA B (IEZMAR) BH 1B#H 1B#H 1B#H 1B#
64 AT (IHEEHR) b5k E5E b5k b5k *
65 oA 5 (IBHAR) BH 1B#H 1B#H 1B#H 1B#
66 DA% (IHFRER) b5k E5E b5k E5E1 b5k
67 2H B (BEHH) BH 1B#H 1B#H 1B#H 1B#




o [X B Mz

a— K [Z0201075 20201045 20290330 20290415 20290430
R050901 2% |E-b ESZUR £7)-+HE4FB) ESZUR H£7)-+HEAFB)
18-15-40 W/C=60% C|18-8-40 W/C=60% C |18-8-40 W/C=60% C |21-12-25(20) FAsktx |21-12-25(20) FAKtx
B yr0kg = 230kg = 230kg JhE ST L JhE T L
Hh[X ==K (v m3 m3 m3 m3 m3

01 FExm(RERKR) B# B# BH B# 1BH
02 FHHET b5k b5k Ei5E b5k b5k
03 44 BT (IR 5 M ET) BH 1B#H 1B#H 1B#H 1B#

04 5 5\ ET b5k b5k * b5k *
05 M BH BH 1B# 1B# B#

06 4} 4 =BT (IHFEEH) Ei5E b5k * b5k *

07 4k EET(1IR = BEAT) BH BH * B#H *
08 ahgIm (IHAART™) b5k b5k b5k E5E b5k
09 BAH B B B# B#; B#
10 5477 (IR & AET) b5k b5k b5k b5k b5k
11 5ARTH (BB EBAT) B#H B#; B# B#; B#
12 HEEN b5k b5k E5E b5k b5k
13 BRI HET (1R BRI EY) 1BH B# B# B#; B#
14 KESH] b5k b5k b5k b5k b5k
15 )1/ (152 L E) 1BH B# B# B# B#
16 F#x (IRREET) b5k E5E1 b5k b5k b5k
17 )11 (R F 25 ) B#H B B# B#; B#
18 BRIEET (1B F 84 b5k b5k b5k b5k b5k
19 A& A B B# B# B#; B#
20 )1 (IH%E o BBFY) b5k b5k b5k b5k b5k
21 AF#(RAFS) B# B# BH B# 1BH
22 ZFHT b5k b5k b5k E5E E5E
23 AFEI(RAFET) B#H B# B# B# B#
24 HFET b5k E5E b5k E5E b5k
25 FIERET (IR %) 11ET) BH BH 1B# 1B# B#
26 EERET(IHES AR ET) b5k b5k Ei5E E5E b5k
27 B EAT BH BH 1B#H 1B#H 1B#
28 FERET (@A) b5k b5k b5k E5E b5k
29 A\Fr(IREg#H) 1BH 1B#H 1B#H 1B#H 1B#
30 AFEI(HEGH) b5k b5k b5k b5k b5k
31 FrEAS B# B#; B# B#; B#
32 AR (BER)IRE) Ei5E b5k E5E E5E b5k
33 ARANET B# BH 1B# 1B# B#
34 AR (IBEAHE) b5k E5E b5k E5E1 b5k
35 FiAET (IR o B2 ET) BH BH 1B# 1B# B#
36 E5HET E5E b5k b5k E5E b5k
37 AR IR (IBHR) 1BH BH 1B#H 1B#H 1B#
38 #ARET(IB/vAR) E5E b5k b5k E5E b5k
39 +AIEM (IB+HMEH) 1BH B# B# B#; B#
40 =R b5k b5k b5k b5k b5k
41 B30 BT B B# B# B# B#
42 CFET(IHEFED) b5k b5k b5k E5E b5k
43 LS EET(IHEAE) 1BH B B# B# B#
44 + N (18+F1H i ET) b5k b5k b5k E5E b5k
45 RFHT B B# B#; B#; B#
46 1R b5k b5k b5k b5k b5k
47 SeET(1A _EALET) 1B#H B# B# B#; B#
48 EALET(IHERALET) b5k b5k b5k b5k b5k
49 B\ 5 ET(IH T HEHET) 1BH B B# B#; B#
50 £ A BT (IBREMAAT) b5k b5k b5k b5k b5k
51 /X4 Akt B B# B# B#; B#
52 LMWL 2) b5k b5k b5k E5E b5k
53 &0 (1A)IIPIHEY) 1BH B B# B# B#
54 &> (IHAMET) b5k b5k b5k b5k b5k

55 K RIET B B# * B# *
56 BT b5k b5k b5k E5E b5k

57 BRI B B# * B# *

58 1 FH AT b5k b5k * b5k *
59 Lo (AMERH) 1B#H B# B# B#; B#
60 & 4 JRET b5k E5E b5k E5E1 b5k
61 DA B (IHAEET) BH 1B#H 1B#H 1B#H 1B#
62 AT (IHZAET) b5k E5E b5k E5E1 b5k
63 oA B (IEZMAR) BH 1B#H 1B#H 1B#H 1B#
64 AT (IHEEHR) b5k E5E b5k b5k b5k
65 oA 5 (IBHAR) BH 1B#H 1B#H 1B#H 1B#
66 DA% (IHFRER) b5k E5E b5k E5E1 b5k
67 2H B (BEHH) BH 1B#H 1B#H 1B#H 1B#




o [X B Mz

a— K [Z20292010 70292020 70294000 71000000 71090010
R050901 ZFR |AkARavy)-t KAk -t EHARIEE |TAIVNES TAITWEES
i 15-40 W/C=50% C= |18-40 W/C=50% C= 12/1~3/31 @ HHIE(20) AS=4.5 | HEHIE(20)E 1| BY
370kg/m3 370kg/m3 ~6.0% AS=4.5~6.0%
X i m3 m3 m3 t t

01 EFm(REHRT) * * 700 | @ 1BH B3
02 FHHET * * 700 LSEE] b5k b5k
03 44~ EET(IHZ B ET) * * 700 | 45 B3 B
04 5 5\ ET b5k b5k 700 LSEE] b5k b5k
05 E=MH * * 700 | ## 1B#H B3
06 4} 4 =BT (IHFEEH) Ei5E b5k 700 LSEE] Ei5E Ei5E
07 4\ 4 BT (IR = BEAT) B3 BH 700 | @ BH B3
08 sAgT T (IH3ART™) * * 1,000 LSEE] b5k b5k
09 BFH * * 1,000 @ 43 1B# B3
10 5477 (IR & AET) * * 1,000 LSEE] b5k b5k
11 3hgT (IR ER) * * 1,000 @ 43 1B#H B3
12 HEEN * * 1,000 LSEE] b5k b5k
13 BRI HET (1R BRI EY) * * 1,000 43 1B# B3
14 KESH] * * 1,000 LSEE] b5k b5k
15 )1 (IHE £ BT) * * 1,000 | 45 B3 B
16 F#x (IRREET) * * 1,000 LSEE] b5k b5k
17 )11 (R F 25 ) * * 1,000 @ 43 1BH B3
18 BRIGET (IR 8&AT) * * 1,000 LSEE| b5k b5k
19 & * * 1,000 43 1B# B3
20 )1 (IH%E o BBFY) * * 1,000 LSEE] b5k b5k
21 AF#H(BAFT) o) * 1,000 | 43 1BH B3
22 ZFHT b5k * 1,000 LSEE] b5k b5k
23 AFBET(IRAFHE) * * 800 | ¥ 1B#H B3
24 HFET b5k * 1,000 LSEE| b5k b5k
25 FIERET(IR %) 1IHT) B# * 1,000 | %53 B BH
26 EERET(IHES AR ET) BE * 1,000 LSEE| b5k b5k
27 B& BT B3 * 1,000 43 1BH EoE )
28 FEERET (1B & ) b5k * 1,000 LSEE] b5k b5k
29 \NFi (IR EH) B3 * 1,000 @ 43 1B#H B3
30 AFRE(IHERH) * * 800 LSEE] b5k b5k
31 A * * 800 | ¥ 1B#H B3
32 AR (BER)IRE) * * 1,000 LSEE] b5k b5k
33 HRAPET * * 1,000 43 1B#H B3
34 AR (IBEAHE) * * 1,000 LSEE] b5k b5k
35 FriAlT(IH 2 H7) * * 1,000 | 45 B3 B
36 E5HET * * 1,000 LSEE] b5k b5k
37 AR IR (IBHR) * * 1,000 43 1B# B3
38 #ARET(IB/vAR) * * 1,000 LSEE] b5k b5k
39 +AIEM (IB+HMEH) * * 800 | #5# 1B# B3
40 =R * * 800 LSEE] b5k b5k
41 B30 E] 1BH * 800 | #5# 1BH B3
42 CFET(IHEFED) BE * 800 LSEE| b5k b5k
43 LS EET(EERE) * * 800 | ¥ 1B# B3
44 + N (18+F1H i ET) * * 800 LSEE] b5k b5k
45 XFHT * * 800 | #5# 1B# B3
46 1R B * 800 LSEE] b5k b5k
47 B AL ET(IH 4L EY) B * 800 LSEE! B B
48 EALET(IHERALET) BE * 800 LSEE] b5k b5k
49 BT (1H T HED * * 800 | #5# 1B# B3
50 £ A BT (IBREMAAT) BE * 800 LSEE| b5k b5k
51 7N 4 Frid * * 800 | #5# 1B# B3
52 LMWL 2) BE BE 600 LSEE] b5k b5k
53 &2 (IR)IIP9ET) B3 1B 600 | 5 1B# B3
54 &> (IHAMET) BE BE 600 LSEE] b5k b5k
55 AEET * * 600 | 5 1B# B3
56 HEAT BE BE 600 LSEE] b5k b5k
57 BRI * * 600 | 5 1B# B3
58 1 FH AT * * 600 LSEE] b5k b5k
59 o (IRHEFRH) 183 1B 600 | 1B# B3
60 & 4 JRET * * 1,000 LSEE] b5k b5k
61 oM % (IAAME) * * 1,000 | % BEL B
62 AT (IHZAET) * * 1,000 LSEE] b5k b5k
63 2 B (IBFMEHR) * * 1,000 43 1B# B3
64 FEET(IHA IEH) * * 1,000 LSEE] b5k b5k
65 A5 i (IBHAH) * * 1,000 | %5 1B# B3
66 D H' % (IRFEEA) * * 1,000 | 43 BE BE
67 2N B (IREHH) * * 1,000 | %53 15 B




o [X B Mz

a— K  [Z1000005 71090030 71000055 71000010 71090050
R050901 &R |TAIPVSES TAIPVSES TAIPVSE S TAIPVSE S TAIPMVSE S
@ ZHE(13) AS=5.0 |@ BHE(13)WE | B @ BHIE(20) AS=5.0 |® BRI (13F) AS=6.0 ® ZHE (13F)KE Il
ik ~T7.0% AS=5.0~7.0% ~T7.0% ~8.0% AIAS=6.0~8.0%
X By t t t t t

01 EFm(REHRT) B B B B B
02 “FHT BE BE BE BE BE
03 44~ EET(IHZ B ET) B B B B B
04 5-BIET BE BE BE BEL BE
05 SEMAH B B B B B
06 44+ BT (IR FEEAT) BE BE BE BE BEL
07 44 BB (IB=EEAT) B B B B B
08 sAgT T (IH3ART™) BE BE BE BE BE
09 2R B B B B B
10 ahRT (IRE AR BE BE BE BEL BE
11 3hgT (IR ER) B B B B B
12 AEER BE BE BE BE BE
13 iz 7 (18 Bl ) B B B B B
14 KfEEy BE BE BE BEL BE
15 F)IIf (IRE LH7) B B B B B
16 F7% M (IBRMET) BE BE BE BEL BEL
17 F) I (IR F&E ) B B B B B
18 BRIGET (IR 8&AT) BE BE BE BE BE
19 HEER B B B B B
20 )1 (IB%E & B3AT) BE BE BE BEL BE
21 N\Fm(BAFH) B B B B B
22 =FHT BE BE BE BEL BEL
23 AFAT(IRAFHD) B B B B B
24 HFHT BE BE BE BE BE
25 FIERAT(IH ) 1IHT) B B B B B
26 EIERBAT(IHEIARAT) BE BE BE BEL BEL
27 B HET B B B B B
28 FEERET (1B & ) BE BE BE BEL BE
29 NP (IREHH) B B B B B
30 AFRE(IHERH) BE BE BE BEL BE
31 HIBAY B B B B B
32 AR (BER)IRE) BE BE BE BEL BE
33 HRAPET B B B B B
34 AR (IBEAHE) BE BE BE BE BE
35 FriAlT(IH 2 H7) B B B B B
36 #BMHHET BE BE BE BEL BEL
37 AR S (BHER) B B B B B
38 #ARET(IB/vAR) BE BE BE BEL BE
39 +MEH(B+FMES) B B B B B
40 =R BE BE BE BEL BEL
41 FFiNHeRT B B B B B
42 tFE(IHE A HD) BE BE BE BE BE
43 LS EET(IHERHET) B B B B B
44 + N (18+F1H i ET) BE BE BE BE BE
45 FXFHET B B B B B
46 18 HT BE BE BE BEL BE
47 BT (18 £ ALHT) B B B B B
48 EALET(IHER AL HT) BE BE BE BEL BE
49 B 5 HBT(IH T HET) B B B B B
50 + F ET (IR X FEARAT) BE BE BE BEL BE
51 X4 P B B B B B
52 LMWL 2) BE BE BE BE BE
53 Lo (1R)IIET) B B B B B
54 &> (IHAMET) BE BEL BE BEL BE
55 A FEIET B B B B B
56 F@AT BE BE BE BE BE
57 EFEAT B B B B B
58 & FHAT BE BE BE BEL BEL
59 & oW (IRREFRA) B B B B B
60 # 4 RET BE BE BE BE BE
61 DH* % (IHAEHET) B B B B B
62 FmET (BT BE BE BE BE BE
63 oM % (IHFREA) B B B B B
64 FEET(IHA IEH) BE BE BE BE BE
65 2% (IHHAH) B B B B B
66 D H' % (IRFEEA) BE BE BE BE BE
67 DB H(HELH) B B B B B




o [X B Mz

a— K [Z1000065 71090080 71090060 71000095 71000015
R050901 &R |TAIPVSES TAIPVSES TAIPVSE S TAIPVSE S TAIPMVSE S
® BRI (20F) AS=6.0|® ZREQOFKE I |@FBKE(0F)IT LA |® MAEY vv7 (13F) (@ MK (13F) AS=7.5
s ~8.0% AIAS=6.0~8.0% AS=6.0~8.0% AS=6.0~8.0% ~9.5%
X =X} t t t t t
01 EFm(REHRT) o) 18,500 | 5 BH B3 B3
02 AT 1B8H 18,500 | 3 1B 1B 1B8E
03 414 BT (IR EET) B3 19,400 | 53 1B#H B3 o)
04 5 58T 1B 20,000 45 1B8H 1B8H 1B8H
05 E=MH BH 19,400 | 3 1B# B3 B3
06 4} 4 =BT (IHFEEH) Ei5E 20,000 LG BE E5E b5k
07 4\ 4 BT (IR = BEAT) B3 20,000 4 BH B3 B3
08 LRI (IH3ARTH) 1B8H 18,800 | 3 1B8H 1B8H 1B8H
09 BFH BH 18,800 | 5 1B# B3 o)
10 AART (1BE AAY) 1B 18,800 | 3 1B 1B 1BH
11 3hgT (IR ER) o) 18,800 | 5 BH B3 B3
12 mEEH 1B8H 18,800 | 3 1B 1B 1B8E
13 iz 7 (18 Bl ) B3 18,800 | 5 1B#H B3 o)
14 KEEHET 1B8H 18,800 | 3 1B8H 1B8H 1BH
15 7)1l (IR E L)) B3 18,800 | 5 1B# B3 B3
16 H#xm (1BREA) 1B 18,800 | 3 1B 1B 1B8H
17 F) I (IR F&E ) o) 18,800 | 5 BH B3 B3
18 FEIBET(IBE ) 1BH; 18,800 | 3 1B8H 1B8H 1B8E
19 & 1BH 18,800 | 5 1B#H B3 o)
20 )1l (18%E o BIHY) 1B 18,800 | 3 1B 1B8E 1BH
21 AF#H(BAFT) o) 17,700 | #53 BH B3 B3
22 = =HT 1B 17,700 | 3 1B8H 1B8H 1B8H
23 AFAT(IRAFHD) B3 17,700 | %53 B3 B3 B
24 BFHET 1B8E 17,700 | 3 1B8E 1BH 1BH
25 FIERAT(IH ) 1IHT) B3 17,700 | %53 B3 B3 B
26 EIERET(IHEIERAT) 1BH; 17,700 | 3 1B 1B 1B8H
27 B& BT BH 17,700 | #53 1B#H B3 o)
28 FIERET(IBfEH#AT) 1B 17,700 | 3 1B 1B8E 1BH
29 \NFi (IR EH) B3 17,700 | #53 1B#H B3 o)
30 AFET(HAEH) 1B 17,700 | 3 1BH 1B8H 1B8H
31 A BH 17,700 | #53 1B# B3 B3
32 AR (BER)IRE) Ei5E 19,000 LG BE E5E b5k
33 HRAPET BH 19,000 | 3 1B# B3 B3
34 =) R (IHEAED) b5k 19,000 LG BE E5E1 b5k
35 R ET(IA 2 HT) B3 19,000 | 3 1B# B3 B3
36 #5MAT 1B 19,000 | %3 1B 1B 1B8H
37 AR IR (IBHR) B3 19,500 | 53 1B#H B3 o)
38 FiAET(IH/VEK) 1B 19,500 | 3 1B 1B8E 1BH
39 +MEH(B+FMES) B3 18,600 | 5 1B#H B3 o)
40 =R 1B 18,600 | 3 1B8H 1B8H 1B8H
41 B30 E] BH 18,600 | %5 1B# B3 B3
42 CFET(IHEFED) b5k 18,600 LG BE E5E1 b5k
43 LS EET(EERE) B3 18,600 | 5 1B# B3 B3
44 +MEA ™ (I8-+F0EHET) 1B8H 18,600 | 3 1B8H 1B8H 1B8H
45 XFHT 1BH 18,600 | 5 1B#H B3 o)
46 1B RAT 1B 18,600 | 3 1B 1B8E 1BH
47 BALET(IR £ 4LET) B3 18,600 | 5 1B#H B3 o)
48 EALET(IHERALET) b5k 18,600 LG B E5E E5E
49 BT (1H T HED B3 18,600 | 5 1B# B3 o)
50 £ A ET(IBR B4 1B8H 18,600 | 3 1B8H 1BH 1BH
51 7N 4 Frid 1BH 18,600 | 5 1B#H B3 o)
52 Lo (B o) 1B8H 19,700 | 3 1B8H 1B8H 1B8H
53 &2 (IR)IIP9ET) B3 19,700 | 3 1B# B3 B3
54 £ (IBAMEET) 1B8H 19,700 | 3 1B8H 1BH 1BH
55 AEET 1BH 21,100 | 49 1B#H B3 o)
56 BEF 1B8H 19,700 | 3 1B8H 1B8H 1B8H
57 BRI BH 21,100 | 43 1B#H B3 o)
58 fheF 4t 1B 21,100 %A 1B8H 1B8H 1B8H
59 o (IRHEFRH) B3 21,100 | 49 1B#H B3 o)
60 £ o JRET 1B8H 19,200 | 3 1B8H 1B8H 1B8H
61 21 B (IRAEHE) B3 19,200 | 53 1B#H B3 o)
62 AT (IHZAET) b5k 20,200 LG BE E5E1 b5k
63 2 B (IBFMEHR) B3 19,200 | 53 1B#H B3 o)
64 FHET(BE ) 1B8E 20,200 4 1B8H 1BH 1BH
65 A5 i (IBHAH) BH 19,200 | 53 1B#H 1B#H o)
66 27' % (IBFEEHR) 1B8H 19,200 | 3 1B8H 1B8H 1B8H
67 2N B (IREHH) B3 19,200 | 53 1B#H B3 o)




o [X B Mz

a— K [Z1090090 71090100 71090110 71000130 71000125
R050901 &R |TAIPVSES TAIPVSES TAIPVSE S BEMATAIWNESY) | BEMBATAIVNES
@FBHEY vv7 (13F)1 EELENIEM(20) | HEAMHEA)ERE O BEEKE(20) @ BEENE(13)
A AABX | AS=5.5~7.5% |AS=4.0~4.5% 17T%2E AS=4.5~6.0% AS=5.0~7.0%
X By t t t t t

01 EFm(REHRT) B B B B B
02 “FHT b5k b5k Ei5E b5k b5k
03 44~ EET(IHZ B ET) B B * B B
04 5-BIET b5k b5k * b5k b5k
05 SEMAH B B * B B
06 44+ BT (IR FEEAT) Ei5E b5k * b5k E5E
07 44 BB (IB=EEAT) B B * B B
08 sAgT T (IH3ART™) b5k E5E b5k E5E1 b5k
09 2R B B B B B
10 ahRT (IRE AR b5k B b5k E5E b5k
11 3hgT (IR ER) B B B B B
12 AEER b5k b5k Ei5E Ei5E b5k
13 iz 7 (18 Bl ) B B B B B
14 KfEEy b5k b5k E5E E5E b5k
15 F)IIf (IRE LH7) B B B B B
16 F7% M (IBRMET) b5k b5k Ei5E E5E b5k
17 F) I (IR F&E ) B B B B B
18 BRIGET (IR 8&AT) b5k E5E b5k b5k b5k
19 HEER B B B B B
20 )1 (IB%E & B3AT) E5E b5k b5k E5E b5k
21 N\Fm(BAFH) B B B B B
22 =FHT b5k b5k b5k E5E E5E
23 AFAT(IRAFHD) B B B B B
24 HFHT b5k E5E b5k E5E b5k
25 FIERAT(IH ) 1IHT) B B B B B
26 EIERBAT(IHEIARAT) b5k b5k Ei5E E5E b5k
27 B EET B B B B B
28 FEERET (1B & ) b5k b5k b5k E5E b5k
29 NP (IREHH) B B B B B
30 AFRE(IHERH) b5k b5k E5E E5E E5E
31 HIBAY B B B B B
32 AR (BER)IRE) Ei5E b5k * b5k b5k
33 HRAPET B B * B B
34 AR (IBEAHE) b5k E5E * b5k b5k
35 FriAlT(IH 2 H7) B B * B B
36 #BMHHET E5E b5k * b5k b5k
37 AR S (BHER) B B * B B
38 #ARET(IB/vAR) E5E b5k * b5k b5k
39 +MEH(B+FMES) B B * B B
40 =R b5k b5k * b5k b5k
41 FFiNHeRT B B * B B
42 tFE(IHE A HD) b5k E5E * b5k b5k
43 LS EET(IHERHET) B B * B B
44 + N (18+F1H i ET) b5k E5E * b5k b5k
45 FXFHET B B * B B
46 18 HT b5k b5k * b5k b5k
47 BT (18 £ ALHT) B B * B B
48 EALET(IHER AL HT) b5k b5k * b5k b5k
49 B 5 HBT(IH T HET) B B * B B
50 + F ET (IR X FEARAT) Ei5E b5k * b5k b5k
51 X4 P B B * B B
52 LMWL 2) E5E E5E * * *

53 Lo (1R)IIET) B3 B * * *

54 &> (IHAMET) b5k b5k * * *

55 A FEIET B B * * *

56 HEAT b5k E5E * * *

57 EFEAT B B * * *

58 & FHAT b5k b5k * * *

59 & oW (IRREFRA) B B * * *

60 # 4 RET b5k E5E * b5k b5k
61 DH* % (IHAEHET) B B * B B
62 FmET (BT b5k E5E * b5k b5k
63 oM % (IHFREA) B B * B B
64 FEET(IHA IEH) b5k E5E * b5k b5k
65 2% (IHHAH) B B * B B
66 D H' % (IRFEEA) b5k E5E * b5k b5k
67 DB H(HELH) B B * B B




o [X B Mz

a—F 71090130 71090140 71090150 71000195 71090170
R050901 2R |BEMRTAIIWSESRY) BEMBTAINWSESY BEMBTOINWSESY BENMBTAINWSESY BEMRTAIIWNES
4 ® BEZNE(13F) ® BEZENE(20F) ® BEMNEY v @ BEMAE(3F) BERERTELEM
A AS=6.0~8.0% AS=6.0~8.0% (13F)AS=6.0~8.0% AS=7.5~9.5% (30) AS=4.0~4.5%
X BT t t t t t
01 EFm(REHRT) B B B B B
02 “FHT b5k b5k Ei5E b5k b5k
03 44~ EET(IHZ B ET) B B B B B
04 5-BIET b5k b5k b5k E5E E5E
05 SEMAH B B B B B
06 44+ BT (IR FEEAT) Ei5E b5k E5E E5E b5k
07 44 BB (IB=EEAT) B B B B B
08 sAgT T (IH3ART™) b5k E5E b5k E5E1 b5k
09 2R B B B B B
10 ahRT (IRE AR b5k B b5k E5E b5k
11 3hgT (IR ER) B B B B B
12 AEER b5k b5k Ei5E Ei5E b5k
13 iz 7 (18 Bl ) B B B B B
14 KisHT b5k b5k E5E E5E b5k
15 F)IIf (IRE LH7) B B B B B
16 F7% M (IBRMET) b5k b5k Ei5E E5E b5k
17 F) I (IR F&E ) B B B B B
18 BRIGET (IR 8&AT) b5k E5E b5k b5k b5k
19 HEER B B B B B
20 )1 (IB%E & B3AT) E5E b5k b5k E5E b5k
21 N\Fm(BAFH) B B B B B
22 =FHT b5k b5k b5k E5E E5E
23 AFAT(IRAFHD) B B B B B
24 HFHT b5k E5E b5k E5E b5k
25 FIERAT(IH ) 1IHT) B B B B B
26 EIERBAT(IHEIARAT) b5k b5k Ei5E E5E b5k
27 B EET B B B B B
28 FEERET (1B & ) b5k b5k b5k E5E b5k
29 NP (IREHH) B B B B B
30 AFRE(IHERH) b5k b5k E5E E5E E5E
31 HIBAY B B B B B
32 AR (BER)IRE) Ei5E b5k E5E E5E b5k
33 HRAPET B B B B B
34 AR (IBEAHE) b5k E5E b5k E5E1 b5k
35 FriAlT(IH 2 H7) B B B B B
36 #BMHHET E5E b5k b5k E5E b5k
37 AR S (BHER) B B B B B
38 #ARET(IB/vAR) E5E b5k b5k E5E b5k
39 +MEH(B+FMES) B B B B B
40 =R b5k b5k b5k E5E E5E
41 FFiNHeRT B B B B B
42 tFE(IHE A HD) b5k E5E b5k E5E1 b5k
43 LS EET(IHERHET) B B B B B
44 + N (18+F1H i ET) b5k E5E b5k E5E1 b5k
45 ;RF T B B B B B
46 18 HT b5k b5k b5k E5E b5k
47 BT (18 £ ALHT) B B B B B
48 EALET(IHER AL HT) b5k b5k E5E E5E E5E
49 B 5 HBT(IH T HET) B B B B B
50 + F ET (IR X FEARAT) Ei5E b5k b5k E5E b5k
51 X4 P B B B B B
52 Lo (BL>™) * * * * *
53 Lo (18I RET) * * * * *
54 &> (IHAMET) * * * * *
55 KfEET * * * * *
56 iﬁ;ﬁ' * * * * *
57 EFEAT * * * * *
58 1&#;‘;} * * * * *
59 &2 (IHHEFRAT) * * * * *
60 # 4 RET b5k E5E b5k E5E1 b5k
61 DH* % (IHAEHET) B B B B B
62 FmET (BT b5k E5E b5k E5E1 b5k
63 oM % (IHFREA) B B B B B
64 FEET(IHA IEH) b5k E5E b5k b5k b5k
65 2% (IHHAH) B B B B B
66 D H' % (IRFEEA) b5k E5E b5k E5E1 b5k
67 DB H(HELH) B B B B B




o [X B Mz

a— K [Z1090180 71090230 71090210 71090220 71392860
R050901 o BT ES iz)&ﬁibuﬁwxmw 71 Zlﬁiﬁuﬁwxmw 71 3}Aﬁibu§é&7x7ww Wt
i % BA % 75‘16\%
3 BERESRENEY @ BEENEQ13) ® BEZRE(13F) ® BEZRE(20F) I-2" 382 (10,000m3k
R (20) AS=4.0~4.5%  |As=5.0~7.0% As=6.0~8.0% As=6.0~8.0% S ICEA)
X BAL t t t t m3

01 EFm(REHRT) B# 13,300 | 3 13,600 | 3 13,600 | 3 2,000 | 4
02 AT 1B8H 13,300 | #5 13,600 | 455 13,600 | 453 2,250 |
03 414 BT (IR EET) BH 14,000 | 3 14,300 | 3 14,300 | 3R 2,500 | 4
04 4 BIBT 1B 14,600 | %55 14,900 | %5 14,900 | #3 2,650 | 4
05 E=MH BH 14,000 | 3 14,300 | 3 14,300 | 3 2,350 | 4
06 4\ =BT (IR FEEH) 1BH 14,600 | %55 14,900 | %5 14,900 | %3 2,650 | 4
07 4\ 4 BT (IR = BEAT) BH 14,600 | 3 14,900 | 3R 14,900 | 3 2,650 | 4
08 3L#THI(IH3LBTH) 1B8H 13,600 | 455 13,900 | #5 13,900 | %5 2,150 |
09 BAH BH 13,600 | 3 13,900 | 3 13,900 | 3 2,150 | 4
10 3ABT (IBEAHT) 1B 13,600 | #3 13,900 | #3 13,900 | #53 2,150 |
11 3hgT (IR ER) B# 13,600 | 3 13,900 | 3 13,900 | 3 2,150 | 4
12 mEEH 1B8H 13,600 | 453 13,900 | %5 13,900 | #3 2,050 |
13 iz 7 (18 Bl ) BH 13,600 | 3 13,900 | 3 13,900 | 3 2,000 | 4
14 KAEET 1B8H 13,600 | 453 13,900 | %3 13,900 | %5 2,150 |
15 7)1l (IR E L)) BH 13,600 | 3 13,900 | 3 13,900 | 3 2,000 | 4
16 H#xm (1BREA) 1B 13,600 | #3 13,900 | %5 13,900 | %5 2,000 |
17 F) I (IR F&E ) B# 13,600 | 3 13,900 | 3 13,900 | 3 2,000 | 4
18 BRIGET (IR 8&AT) BE 13,600 | 3 13,900 | ©¥3H 13,900 | &3 2,000 @ #5#
19 & 1BH 13,600 | 3 13,900 | 3 13,900 | 3 2,000 | 4
20 FJ1I (185 4 B 1B 13,600 | #3 13,900 | %5 13,900 | #5 2,350 | 4
21 AF#H(BAFT) B# 12,500 | 3 12,800 | 3 12,800 | 3 2,100 | 4
22 = =HT 1B 12,500 | 455 12,800 | #3 12,800 | #3 2,200 |
23 AFBET(IRAFHE) BH 12,500 | 3 12,800 | 3 12,800 | 3 1,850 | %3
24 MTHET 1B8E 12,500 | %55 12,800 | #3 12,800 | #3 2,300 |
25 FEERET(IR %) 11 HT) BH 12,500 | 3 12,800 | 3 12,800 | 3 1,950 | %3
26 EIERET(IHEIERAT) 1B 12,500 | %55 12,800 | #5 12,800 | #3 2,100 |
27 B& BT BH 12,500 | 3 12,800 | 3 12,800 | 3 2,100 | #
28 FIERET(IBfEH#AT) 1BH; 12,500 | 455 12,800 | #3 12,800 | #3 1,950 | %3
29 \NFi (IR EH) 1BH 12,500 | 3 12,800 | 3 12,800 | 3 1,950 | %3
30 AFAT(IRAAK) 1B 12,500 | 453 12,800 | 455 12,800 | 455 1,950 | 453
31 FrEAS BH 12,500 | 3 12,800 | 3 12,800 | 3 2,100 | 4
32 AR M (BARTIRS) 1B8H 13,800 | #3 14,100 | %5 14,100 | %3 2,150 |
33 ARANET BH 13,800 | 3 14,100 | 3 14,100 | 3 2,000 | 4
34 FHFF)IR T (B AHD) 1B8H 13,800 | #3 14,100 | %5 14,100 | %5 2,150 |
35 R ET(IA 2 HT) BH 13,800 | 3 14,100 | 3 14,100 | 3 2,150 | 4
36 #5MAT 1B 13,800 | #5 14,100 | %5 14,100 | %5 2,150 |
37 AR IR (IBHR) 1BH 14,300 | 3R 14,600 | 3R 14,600 | 3 2,150 | #
38 FiAET(IH/VEK) 1B 14,300 | #5 14,600 | %55 14,600 | %55 2,150 | 4
39 +AIEM (IB+HMEH) BH 13,400 | 3 13,700 | 3 13,700 | 3 2,100 | #
40 =R 1B 13,400 | %5 13,700 | #5 13,700 | #5 2,100 | #
41 B30 E] BH 13,400 | 3 13,700 | 3 13,700 | 3 2,100 | #
42 tFET(BEFED) 1B8E 13,400 | %5 13,700 | %5 13,700 | #5 2,100 | #
43 BV S B RT(IHERHET) BH 13,400 | 3 13,700 | 3 13,700 | 3 2,100 | #
44 +MEA ™ (I8-+F0EHET) 1B8H 13,400 | %5 13,700 | %5 13,700 | %5 2,200 |
45 X FHET 1BH 13,400 | 3 13,700 | 3 13,700 | 3 2,100 | #
46 1B RAT 1B 13,400 | %5 13,700 | #3 13,700 | #5 2,100 |
47 BALET(IR £ 4LET) 1BH 13,400 | 3 13,700 | 3 13,700 | 3 2,200 | 4
48 FALET(IH AL ET) 1B 13,400 | %5 13,700 | #5 13,700 | #5 2,100 | #
49 S ET(IH T HEHAT) BH 13,400 | 3 13,700 | 3 13,700 | 3 1,950 | %3
50 + A ET(IB R M) 1B8H 13,400 | %5 13,700 | %5 13,700 | #5 1,950 | %3
51 7N 4 Frid 1BH 13,400 | 3 13,700 | 3 13,700 | 3 2,150 | #
52 L om(BL D) * * * * 2,000 | #5A
53 2> (1)1 AIET) * * * * 1,850 | 4
54 -0 (B AHET) * * * * 2,000 |
55 K RIET * * * * 2,400 |
56 E@HT * * * * 2,150 | #53#
57 BRI * * * * 2,150 | 4
58 1 FH AT * * * * 2,550 LSEE]
59 &2 (IHHEFRAT) * * * * 1,850 | 4
60 £ o JRET 1B8H 14,000 | %3 14,300 | #3 14,300 | #3 2,350 | 4
61 21 B (IRAEHE) BH 14,000 | 3 14,300 | 3 14,300 | 3R 2,050 | 4
62 S HAET(1REHET) 1B8H 15,000 | %55 15,300 | #5 15,300 | %5 2,900 |
63 2 B (IBFMEHR) BH 14,000 | 3 14,300 | 3 14,300 | 3R 2,150 | 4
64 FHAET(1R HIER) 1B8E 15,000 | %55 15,300 | #5 15,300 | %5 3,200 | 4
65 2 A' % M (IB4aH) BH 14,000 | 3 14,300 | 3 14,300 | 3R 2,150 | 4
66 DA % (IBFEIER) 1B8H 14,000 | %3 14,300 | #5 14,300 | #3 2,150 |
67 2N B (IREHH) BH 14,000 | 3 14,300 | 3 14,300 | 3R 2,150 | 4




o [X B Mz

a—F 70300015 70300045 70300005 70390000 70390010
R050901 E2xan " " " wa wa
|Bg |Iv9)-+A AR wy)-tA MECEL)  5~15mm 5~20mm
Ho X ==Ly m3 m3 m3 m3 m3

01 F#FHFM(AEFRT) k) k) =k =k 1B
02 “FHT BE BE BE BE BE
03 414 JEET (IR M A7) 1B k) =k * 1B
04 5-BIET BE BE BE * BE
05 ZEMAH k) =k =k * 1B
06 44+ BT (IR FEEAT) BE BE BE * BE
07 4h 4 =BT (IR = EEAT) k) k) =k * 1B
08 AR (IH5ART™) BE BE BE * BE
09 2R k) =k ok ) * 1B
10 ahRT (IRE AR BE BE BE * BE
11 5haTH (IRAEEA) k) =k =k * 1B
12 AEHEN BE BE BE * BE
13 BRI ET (18 Bl AY) 1B k) =k * 1B
14 KESHY BE BE BE * BE
15 F)IIf (IRE LH7) k) =k =k * 1B
16 F7% M (IBRMET) BE BE BE * BE
17 )1 (IR F ) k) k) =k * 1B
18 BEIGET (10 & B4 BE BE BE * BE
19 HEER 1B k) =k * 1B
20 )1 (IB%E & B3AT) BE BE BE * BE
21 N\Fm(BAFH) k) =k =k =k 1B
22 =F 1 BE BE BE BE BE
23 AFAT(IRAFHD) k) =k =k =k 1B
24 HFHT BE BE BE BE BE
25 FEERAT(IR )11 A7) k) =k =k =k 1B
26 EIERBAT(IHEIARAT) BE BE BE BE BE
27 B LR k) k) =k =k ) k)
28 FIERAT (IR EHY) BE BE BE BE BE
29 NP (IREHH) 1B k) =k =k ) k)
30 AFRE(IHERH) BE BE BE BE BE
31 FIEAY k) =k =k =k 1B
32 AR T (BAEFTIRT) BE BE BE * BE
33 HRAPET k) =k =k * 1B
34 =)l R (IHEAHD) BE BE BE * BE
35 HHAT(IR 2 A7) k) =k =k * 1B
36 #5H AT BE BE BE * BE
37 BAT)IRS (IHHHR) 1B k) =k * 1B
38 FRAT(IR/VAR) BE BE BE * BE
39 +A1E™ (IB+FEH) 1B k) =k =k ) k)
40 =R BE BE BE BE BE
41 FFiNHeRT k) =k * 4,450 | F5 1B
42 tFE(IHE A HD) b5k E5E * 4,450 LSEE| b5k
43 BV S EET(BERED) k) =k =k =k 1B
44 +FHE ™ (I8-+F0E 5 ET) BE BE BE BE BE
45 XA HET 1B k) =k =k ) k)

46 18 HT BE BE * * *
47 BALAT(I8 £4LmT) $5H B# * 4,450 | B#
48 BACAT(IRELAT) BE BE * 4,450 | F5EA BE
49 o AT (18T HHAET) k) =k ok ) =k ) k)
50 © A BT (IR R E#AT) BE BE * 4,450 | R BE
51 X4 P 1B k) * 4,700 | F5A 1B
52 Lo (BL>™) BE BE * 5,100 | % BE
53 oM (1R)IIAAEY) k) =k * 5,100 | % 1B
54 £ > (IBAMEET) BE BE * 5100 | % BE
55 K ET 1B k) * * B
56 HEAT BE BE * 5,100 | % BE
57 EFEAT 1B k) * * 1B
58 A FHAY BE BE * * BE

59 oM (IRBTFRH) 1B k) * * *
60 £ 4 RHEY BE BE BE * BE
61 27 % (IBAEHT) 1B k) =k * 1B

62 FmET (BT * b5k b5k * *
63 2% (IBFREHR) 1B k) =k * 1B

64 FHAT(1BEEH) * BE BE * *
65 27' % i (IB4AH) 1B k) =k * 1B
66 > 1'% (IBFREH) BE BE BE * BE
67 2N B H(IREHH) 1B k) =k * 1B




o [X B Mz

a— K [Z0390020 70300060 70300020 20300065 20300035
R050901 EA N = 9797477 9797477 9797477 ZICHEAE
|g |5~40mm C-20 C-40 C-80 5~15cm
Hh[X ==K (v m3 m3 m3 m3 m3
01 EFm(REHRT) * 1BH 1B 3,000 @ ## BH
02 FHHET * b5k b5k 3,000 LG E5E
03 4 » BT (IHEE HET) * B B 3,850 LSEE! B
04 5 5\ ET * b5k b5k 4,400 LG b5k
05 E=HHN * B B 3,850 LSEE! B
06 44+ BT (IR FEEAT) * b5k BE 4,400 LG b5k
07 4\ 4 BT (IR = BEAT) * 1B#H 1B 4,400 @ ## B3
08 ahgIm (IHAART™) * b5k b5k 3,200 LG b5k
09 BAH * 1B#H 1B#H 3,200 5 B#H
10 5477 (IR & AET) * BE 1B8E 3,200 | #:# BE
11 3hgT (IR ER) * 1BH 1B 3,200 | #53# BH
12 HEEN * b5k b5k 3,200 LG b5k
13 iz 7 (18 Bl ) * 1B# 1B 3,200 | #5# 1B#H
14 KESH] * b5k b5k 3,200 LG b5k
15 )1 (IHE £ BT) * B B 3,200 LSEE! B
16 F#x (IRREET) * BE 1B8E 3,200 | @ BE
17 F) I (IR F&E ) * B B 3,200 LG B
18 BRIGET (IR 8&AT) * b5k BE 3,200 LG b5k
19 & * 1B#H 1B#H 3,200 5 B
20 )1 (IB%E & B3AT) * b5k b5k 3,200 LG b5k
21 AF#H(BAFT) * 1BH 1B 3,400 @ 5 B3
22 ZFHT * b5k b5k 4,000 LG b5k
23 AFBET(IRAFHE) * 1B#H 1B 3,800 @ #5# B3
24 HFET * b5k b5k 4,000 LG b5k
25 FEERET(IR %) 11 HT) * 1B#H 1BH 3,400 @ #5F# B3
26 EERET(IHES AR ET) * BH BE 4,000 LG b5k
27 B EET * B B 3,400 LSEE! B
28 FERET (@A) * b5k b5k 3,400 LG b5k
29 \NFi (IR EH) * 1BH 1B 3,400 @ #5F# B3
30 AFET(IHAREH) * BE BE 3,800 | ## BE
31 A * 1BH 1B 3,800 @ #5# B3
32 AR (BER)IRE) * b5k BE 3,900 LG b5k
33 ARANET * 1B#H 1B#H 3,900 | ## B#H
34 AR (IBEAHE) * b5k b5k 3,900 LG b5k
35 FriAlT(IH 2 H7) * B B 4,500 | #5: B3
36 E5HET * b5k b5k 3,900 LG b5k
37 AR IR (IBHR) * 1B#H 1B 4,700 | ## B
38 #ARET(IB/vAR) * b5k b5k 4,700 LG b5k
39 +AES (B+fEH) * B B 4,100 LSEE! B
40 =R * b5k b5k 4,100 LG b5k
41 BFMET * 1B#H B 3,400 @ 5 B
42 CFET(IHEFED) * b5k BE 3,400 LG b5k
43 LS EET(IHERHET) * B B 4,100 LSEE! B
44 + N (18+F1H i ET) * b5k b5k 4,100 LG b5k
45 RFHET * B B 4,100 LSEE! B
46 1 EHAT * 4,900 | 7 4,800 | 4,700 | ## 5300 | %3
47 B AL ET(IH 4L EY) * B B 3,400 LG B
48 EALET(IHERALET) * b5k b5k 3,400 LG b5k
49 BT (1H T HED * 1B#H 1B 4,100 | ## EoE )
50 + F ET (IR X FEARAT) * b5k b5k 3,400 LG b5k
51 7N 4 Frid * 1B#H 1B 4,000 @ ## B3
52 LMWL 2) * b5k b5k 3,700 LG b5k
53 2> (1)1 AIET) * B B 3,700 | #5: B3
54 &> (IHAMET) * b5k b5k 3,700 LG b5k
55 K EI#T * B B 4,200 LSEE! B
56 BT * b5k b5k 3,700 LG b5k
57 BRI * 1B# 1B 4,200 | ## B3
58 1 FH AT * b5k b5k 4,200 LG b5k
59 o (IRHEFRH) * 1B#H 1B 4,100 | ## B3
60 & 4 JRET * b5k b5k 4,200 LG b5k
61 DH* % (IHAEHET) * B B 4,200 LSEE! B
62 AT (IHZAET) * b5k b5k * b5k
63 oM % (IHFREA) * B B 4,200 LSEE! B
64 AT (IHEEHR) * b5k b5k * b5k
65 2 A' % M (IB4aH) * B3 1B 4,200 | ## 1B#H
66 D H' % (IRFEEA) * b5k b5k 4,200 LG b5k
67 DB H(HELH) * B B 4,200 LSEE! B




o [X B Mz

a—F (20391070 70300075 70300025 70391100 70391110
R050901 &z |EICY R NERERA NERERA HRERA HRERA
g |156~20cm M-25 M-40 65 13~5mm 75 5~2.5mm
Ho X ==Ly m3 m3 m3 m3 m3

01 F#FHFM(AEFRT) B B B B B
02 “FHT BE BE BE BE BE
03 44~ EET(IHZ B ET) B B B * *

04 5-BIET BE BE BE * *

05 SEMAH B B =k * *

06 24 EET(IBFEEH) BE BE BE * *

07 44 BB (IB=EEAT) k) B B * *

08 sAgT T (IH3ART™) BE BE BE BE BE
09 2R B B B B B
10 ahRT (IRE AR BE BE BE BE BE
11 5haTH (IRAEEA) B B B B B
12 AEHEN BE BE BE BE BE
13 BRI ET (18 Bl AY) B B B B B
14 KisHT BE BE BE BE BE
15 F)IIf (IRE LH7) B B B B B
16 F7% M (IBRMET) BE BE BE BE BE
17 )1 (IR F ) B B B B B
18 BRIGET (IR 8&AT) BE BE BE BE BE
19 HEER B B B B B
20 )1 (IB%E & B3AT) BE BE BE BE BE
21 N\Fm(BAFH) k) B B B B
22 =F 1 BE BE BE BE BE
23 AFAT(IRAFHD) k) B B B B
24 BFHET BE BE BE BE BE
25 FIERAT(IH ) 1IHT) B B B B B
26 EIERBAT(IHEIARAT) BE BE BE BE BE
27 B LR B B B B k)
28 FEERET (1B & ) BE BE BE BE BE
29 NP (IREHH) 1B B B B B
30 AFRE(IHERH) BE BE BE BE BE
31 FIEAY B B B B B
32 AR T (BAEFTIRT) BE BE BE BE BE
33 HRAPET B B B B B
34 =)l R (IHEAHD) BE BE BE BE BE
35 FriAlT(IH 2 H7) B B B B B
36 #5H AT BE BE BE BE BE
37 AR S (BHER) B B B B B
38 FRAT(IR/VAR) BE BE BE BE BE
39 +MEH(B+FMES) B B B B B
40 =R BE BE BE BE BE
41 BFl T B B B B B
42 tFE(IHE A HD) BE BE BE BE BE
43 BV S EET(BERED) k) B B B B
44 +FHE ™ (I8-+F0E 5 ET) BE BE BE BE BE
X pavaliil B B B B k)
46 1 RET 5,300 LSHE] 5,500 LSEE] 5,400 LSHE] * *

47 BT (18 £ ALHT) B B B B B
48 EALET(IHER AL HT) BE BE BE BE BE
49 o AT (18T HHAET) B B B B B
50 + F ET (IR X FEARAT) BE BE BE BE BE
51 X4 P B B B B k)
52 Lo (BL>™) BE * BE BE BE
53 oM (1R)IIAAEY) B * B B B
54 £ > (IBAMEET) BE * BE BE BE
P NEL] B * B * *

56 HEAT BE * BE BE BE
57 EFEAT B * B * *

58 fHAT BE * BE * *

59 & oW (IRREFRA) B * B * *

60 #2 4 JRHET BE BE BE BE BE
61 27 % (IBAEHT) B B B B B
62 FmET (BT BE BE BE * *

63 2% (IBFREHR) B B B B B
64 FEET(IHA IEH) BE BE BE * *

65 27' % i (IB4AH) B B B B B
66 D H' % (IRFEEA) BE BE BE BE BE
67 2N B H(IREHH) B B B B B




o [X B Mz

a— K [Z0301005 70392020 70394040 70394050 20394060
R050901 2 |BEITIATY EABEELEA ERER(hER) ERER(hER) ERER(hER)
s _ LI L 30~200kg/ |/ LiEL 200~500kg/ B EEL 500~
| |RC-40 B L 5~50kg/fE & & 1000ke/ /8
Hh[X ==K (v m3 m3 m3 m3 m3
01 EFm(REHRT) B#H 6,600 | 4 6,600 | 4 6,600 | 4 7,000 | 4
02 AT 1BH; 6,600 | 4 6,600 | 4 6,600 | #= 7,000 | #
03 414 BT (IR EET) B3 6,900 | #i 6,900 | # 6,900 | # 7,300 | 4
04 4 BIBT 1B 7,200 | 7,200 | 7,200 | 7,600 |
05 E=MH BH 6,900 | 4 6,900 | 4 6,900 | 4 7,300 | 4
06 244 EET(IBF &) 1BH 7,200 | 7,200 | 7,200 | 7,600 |
07 44 BB (IB=EEAT) B 7,200 | 7,200 | #F# 7,200 | 7,600 @ 5
08 AR (IH5ART™) BE * * * *
09 BFH B3 * * * *
10 5477 (IR & AET) b5k * * * *
11 3hgT (IR ER) o) * * * *
12 HEEN b5k * * * *
13 iz 7 (18 Bl ) B3 * * * *
14 KEEHET BE * * * *
15 )1 (IHE £ BT) B * * * *
16 F#x (IRREET) b5k * * * *
17 F) I (IR F&E ) B * * * *
18 BRIGET (IR 8&AT) b5k * * * *
19 & B3 * * * *
20 )1 (IB%E & B3AT) E5E * * * *
21 N\Fm(BAFH) B 7,450 | 7,450 | 7,450 | 7,750 |
22 =FHT 1B * * * *
23 AFEI(IHAFHY) B * * * *
24 HFHT b5k * * * *
25 FEEERET(IH4) 1 BT) B * * * *
26 EERET(IHES AR ET) b5k * * * *
27 B& BT BH 7,450 | 7,450 | 7,450 | 7,750 | 4
28 FEERET (1B & ) b5k * * * *
29 \NFi (IR EH) B3 * * * *
30 AFRE(IHERH) b5k * * * *
31 A B3 * * * *
32 AR (BER)IRE) BE * * * *
33 HRANET B * * * *
34 AR (IBEAHE) 1B8H * * * *
35 FriAlT(IH 2 H7) B3 8,150 = 5 8,150 = 5 8,150 = 5 8,450 | 5
36 E5HET B * * * *
37 AR IR (IBHR) 1B#H 8,150 | #i 8,150 | 4 8,150 | 4 8,450 | #i
38 FiAET(IH/VEK) 1B8H 8,150 | 4 8,150 | 4 8,150 | # 8,450 | #
39 +AIEM (IB+HMEH) B3 * * * *
40 =R 1B 8,550 | 4 8,550 | 4 8,550 | 4 8,850 | 4
41 B30 E] BH 7,200 | 4 7,200 | 7,200 | 7,600 | 4
42 CFET(IHEFED) b5k * * * *
43 B SEET(RE R 1B 8,550 | 4 8,550 | 1% 8,550 | #i 8,850 | #i
44 + N (18+F1H i ET) b5k * * * *
45 XFHT B3 * * * *
46 1 EHAT 3,900 | 4 7,200 | 7,200 | 7,200 | 7,600 |
47 B AL ET(IH 4L EY) B * * * *
48 FALET(IH AL ET) 1B * * * *
49 BT (1H T HED B3 * * * *
50 £ A BT (IBREMAAT) Ei5E * * * *
51 7N 4 Frid 1BH 8,450 | #i 8,450 | #i 8,450 | #i 8,650 | #i
52 LMWL 2) BE 7,000 @ #5# 7,000 @ #5# 7,000 @ #5# 7,300 | #5#
53 Lo (1R)IIET) B 7,000 @ #F# 7,000 @ #F# 7,000 @ #F# 7,300 | #5F#
54 £ (IBAMEET) 1B8H 7,000 | 7,000 | 7,000 | 7,300 |
55 AEET 1BH 7,000 | 4 7,000 | 4 7,000 | 4 7,300 | 4
56 BEF 1B8H 7,000 | 7,000 | 7,000 | 7,300 |
57 BRI BH 7,000 | 4 7,000 | 7,000 | 4 7,300 | 4
58 it 1B 7,000 | 7,000 | # 7,000 | 7,300 |
59 o (IRHEFRH) B3 7,000 | 4 7,000 | 4 7,000 | 4 7,300 | 4
60 £ o JRET 1BH; 7,400 | 7,400 | 7,400 | 7,700 |
61 DH* % (IHAEHET) B3 7,400 | ## 7,400 | H# 7,400 | H# 7,700 | ##
62 S HAET(1REHET) 5,100 | %3 7,850 | 7,850 | 4 7,850 | 4 8,150 | #
63 2 B (IBFMEHR) 1BH * * * *
64 FEAT(IHHIBH) 5,100 | %3 7,850 | 7,850 | 4 7,850 | 4 8,150 | #
65 A% il (IA4AHT) B# * * * *
66 D H' % (IRFEEA) 1B8H * * * *
67 2N B (IREHH) 1BH 7,400 | 7,400 | 7,400 | 7,700 | 4




o [X B Mz

20394070

720393040

70393050

70393060

20392040

R050901 E2 0N

B a (hER)

wWER

wWER

wWER

EABELER

Sy

7B LB L 1000kg/f@ 2
E

JB EJE L 200~500kg/
(]

7B LEEL 500~
1000kg/1{@

7 LB L 1000kg/ B2
E

B L% L 5~50kg/M@

X B

m3

m3

01 FH M (REHRD)

e

7,000

4900 | 455

02 FPHT

%

%

7,000

%

%

4,900 5

03 414 BT (IR EET)

e

e

7,300

e

5,800 5

04 5-BIET

%

%

7,600

%

%

6,800 5

05 ZEMAH

7,300

e

e

5,800 5

06 4} 4 &R (IR FEEH)

%

%

7,600

%

%

6,800 5

07 4\ 4 BT (IR = BEAT)

e

7,600

e

6,800 5

08 sAgT T (IH3ART™)

09 2R

10 5477 (IR & AET)

11 3hgT (IR ER)

12 mEERN

13 iz 7 (18 Bl )

14 Ky

15 )1 (IRE L #T)

16 &M (IHREE)

17 )l (1B HT)

18 BRIGET (IR 8&AT)

19 A&

20 )1 (IB%E & B3AT)

21 N\Fm(BNAFH)

e

e

22 =FHT

23 AFBT(IHAFHD)

24 BFHT

25 FEERET(IR %) 11 HT)

26 EERET(IHES AR ET)

27 P& _LHT

28 F gy (IRfE#AT)

29 \F(IBEgH)

30 AFRE(IHERH)

31 BN

32 AR (BER)IRE)

33 AR MNET

34 AR (IBEAHE)

35 R ET(IA 2 HT)

36 A5 AT

37 AR IR (IBHR)

e

e

e

38 FiAET(IH/VEK)

%

%

%

%

%

39 +AIEM (IB+HMEH)

40 =R

"

"

"

"

"

41 BP0y

e

e

e

e

42 EFET(IBEFHD)

43 LS EET(EERE)

e

e

e

e

44 +Fmh (18-+F0E#HHET)

L wavalil

46 fEEET

i

i

i

i

i

47 BALET(IR £ 4LET)

48 FAvET(IHER-LEY)

49 BT (1H T HED

50 £ A ET(IBR B4

51 74 P

e

e

e

52 LMWL 2)

%

%

%

%

%

53 Lo (1R)IIET)

e

e

e

54 £ (IBAMEET)

%

%

%

%

%

55 K ET

e

e

56 FLEf

%

%

%

%

%

57 B

e

e

e

e

58 A

%

%

%

%

%

59 L > (IHBE R

e

e

e

60 #2 4 JRHET

%

%

%

%

%

61 21 B (IRAEHE)

e

e

e

62 FmET (BT

%

¥

%

%

%

63 2 B (IBFMEHR)

64 FEET(IHA IEH)

i

i

i

i

¥

65 2 A' % M (IB4aH)

66 D H' % (IRFEEA)

67 2N B (IREHH)

e

e

e




o [X B Mz

a— R [Z0394120 20394130 20394140 20394150 20393100
R050901 ZF ERBRA(hER) Hpen(hEn) Hpen(hEn) Hpen(hEn) WER
BE L L 30~200kg/ |BE_LEJE L 200~500kg/ |BELE L 500~ e b3 L 1000kg/f8 #2 FE_EE L 200~500kg/
A 1@ ] 1000kg/1@& = 1@
Hh[X ==K (v m3 m3 m3 m3 m3

01 FExm(RERKR) 4,900 | =3 4,900 | A 5300 | 453 5300 | 43 4,900 |
02 FPHT 4,900 | 7 4,900 | 7 5300 | %3 5300 | %3 4,900 | 7
03 44 BT (IR 5 M ET) 5800 | 43 5800 | 43 6,200 | 45 6,200 | 45 5800 | 43
04 45 3BT 6,800 | 4= 6,800 | 4 7,200 | 7,200 | 6,800 | #=
05 EMA 5800 | 43 5800 | 43 6,200 | 45 6,200 | 15 5800 | 43
06 4\ =BT (IR FEEH) 6,800 | 4 6,800 | 4 7,200 | 7,200 | 6,800 | 4=
07 4k EET(1IR = BEAT) 6,800 | 15 6,800 | 15 7,200 | 5 7,200 | 5 6,800 | 15
08 sAgT T (IH3ART™) * * * * *
09 %Ef‘ﬁ * * * * *
10 LB (1B AHE]) * * * * *
11 38 (IBAEEN) * * * * -
12 HEEN * * * * *
13 BRI HET (1R BRI EY) * * * * *
14 KAEET * * * * *
15 )1/ (152 L E) * * * * *
16 H#xm (1BRMEAT) * * * * *
17 )11 (R F 25 ) * * * * *
18 FEISET(18 5 847) * * * * *
19 A& A * * * * *
20 FJ1I (185 4 B * * * * *
21 AF#(RAFS) 5600 | 453 5600 | 43 5900 | 43 5900 | 43 5600 | 43
22 =Ry * * * * *
23 AFBET(IRAFHE) * * * * *
24 MTHET * * * * *
25 FIERET (IR %) 11ET) * * * * *
26 FEERET(IRRIERET) * * * * *
27 B EAT 5600 | 43 5600 | 453 5900 | 43 5900 | 43 5600 | 43
28 7 ERET (1B AEHA) * * * * *
29 A\Fr(IREg#H) * * * * *
30 AFET(HAEH) * * * * *
31 FrEAS * * * * *
32 AATIRS (BRAR) * * * * *
33 HRANAT * * * * *
34 AR (IBEAHE) * * * * *
35 FiAET (IR o B2 ET) 6,600 | 15 6,600 | 15 6,900 | 15 6,900 | 15 6,600 | 15
36 £ ET * * * * *
37 AR (IR EA) 6,600 | 15 6,600 | 15 6,900 | 15 6,900 | 15 6,600 | 15
38 HEET(I/IVAR) 6,600 | 4= 6,600 | # 6,900 | #= 6,900 | # 6,600 | 4
39 +AES (B+fEH) * * * * *
40 =R 6,700 | # 6,700 | #= 7,000 | # 7,000 | 6,700 | #=
41 B30 BT 6,050 | 45 6,050 | 45 6,450 | 153 6,450 | 153 6,050 | 45
42 tFET(BEFED) * * * * *
43 BV S B RT(IHERHET) 6,700 | 45 6,700 | 15 7,000 | A 7,000 | 3 6,700 | 15
44 + N (18+F1H i ET) * * * * *
45 ﬁ)ﬁm]- * * * * *
46 1 EHAT 6,050 | 4 6,050 | 4 6,450 | #= 6,450 | #= 6,050 | 4
47 BALET(IR £ 4LET) * * * * *
48 FALET(IH AL ET) * * * * *
49 BT (1H T HED * * * * *
50 + A ET(IB R M) * * * * *
51 /X4 Akt 6,600 | 15 6,600 | 15 6,800 | 15 6,800 | 15 6,600 | 15
52 L om(BL D) 5300 | %3 5300 | %3 5600 | %3 5900 | %3 5300 | %3
53 &> (18)1IAHET) 5300 | 43 5300 | 453 5600 | 453 5900 | 43 5300 | 453
54 -0 (B AHET) 5300 | %3 5300 | %3 5600 | %3 5900 | %3 5300 | %3
55 K RIET 5300 | 43 5300 | 453 5600 | 453 5900 | 43 5300 | 43
56 @t 5300 | %3 5300 | %3 5600 | %3 5900 | %3 5300 | %3
57 BRI 5300 | 43 5300 | 453 5600 | 453 5900 | 43 5300 | 43
58 {3 #t 5300 | %3 5300 | %3 5600 | %3 5900 | %3 5300 | %3
59 Lo (AMERH) 5300 | 43 5300 | 453 5600 | 453 5900 | 43 5300 | 43
60 & 4 RET 5,850 | %3 5,850 | %3 6,150 | 4 6,150 | 4 5,850 | 43
61 DA B (IHAEET) 5850 | 43 5850 | 43 6,150 | 45 6,150 | 45 5850 | 453
62 S HAET(1REHET) 7,200 | 7,200 | 7,500 | 7,500 | 7,200 |
63 oM % (IHFREA) * * * * *
64 FHET(1RE ) 7,200 | 7,200 | 7,500 | 7,500 | 7,200 |
65 2 A' % M (IB4aH) * * * * *
66 DA % (IBFEIER) * * * * *
67 DB H(HELH) 5,850 | 45 5,850 | 45 6,150 | ## 6,150 | ## 5,850 | 45




o [X B Mz

a— K [Z0393110 70393120 20390030 20390040 20390050
R050901 2R |BEA WEL JESRATT (FrAzyIVATY ) (FESRATY (FrAzZyANATY ) |FERKATY (FxRzZyhNATY )
B EE L 500~ e E3¥ L 1000kg/f@H2 | _ . wo
g 1000kg/ @ = B 5mmL T 0-20(CS-2018 %4 &)
Hh[X ==K (v m3 m3 m3 m3 m3
01 EFm(REHRT) 5300 | %3 5300 | %3 * * *
02 FPHT 5300 | %3 5300 | %3 * * *
03 414 BT (IR EET) 6,200 | 4 6,200 | 4 * * *
04 5 5AT 7,200 | 7,200 | * * *
05 E=MH 6,200 | #i 6,200 | 4 * * *
06 4\ =BT (IR FEEH) 7,200 | 7,200 | #5A * * *
07 44 BB (IB=EEAT) 7,200 | 7,200 | * * *
08 sAgT T (IH3ART™) * * * * *
09 %E‘r‘ﬁ * * * * *
10 AART (1BE AAY) * * * * *
11 5haTH (IRAEEA) * * * * *
12 HEEN * * * * *
13 iz 7 (18 Bl ) * * * * *
14 KAEET * * * * *
15 )1 (IHE £ BT) * * * * *
16 H#xm (1BREA) * * * * *
17 F) I (IR F&E ) * * * * *
18 FEIBET(IBE ) * * * * *
19 & * * * * *
20 )1 (IH%E o BBFY) * * * * *
21 AF#H(BAFT) 5900 | % 5900 | % 1,800 | %3 2,250 | 4 3,050 | 4
22 = =HT * * 3,000 | 3,350 | 4 4,350 |
23 AFAT(IRAFHD) * * 2,450 | 5 2,800 | #5# 3,750 | 5
24 MTHET * * 3,850 | 4 4,150 | 5,100 | %3
25 FIERAT(IH ) 1IHT) * * 2,450 | 5 2,800 @ 5 3,750 | #5#
26 EIERET(IHEIERAT) * * 2,750 | 3,100 | 4,050 |
27 B& BT 5900 | % 5900 | % 2,100 | 4 2,450 | 3,400 | 4
28 FEERET (1B & ) * * 2,100 | #5# 2,450 | 53 3,400 @ #53#
29 \NFi (IR EH) * * 2,250 | 4 2,600 | # 3,600 | 4
30 AFET(HAEH) * * 2,750 | ## 3,100 | #5A 4,050 | #5
31 A * * 3,400 | 4 3,700 | 4 4,650 | 4
32 AR M (BARTIRS) * * * * *
33 ARANET * * * * *
34 AR (IBEAHE) * * * * *
35 R ET(IA 2 HT) 6,900 | 4 6,900 | # * * *
36 #5MAT * * * * *
37 AR IR (IBHR) 6,900 | # 6,900 | #i * * *
38 HEET(I/IVAR) 6,900 | # 6,900 | #5 * * *
39 +AIEM (IB+HMEH) * * 3,000 | 4 3,350 | 4 4,350 | 4
40 =R 7,000 | 7,000 | 2,750 | 3,100 | 4 4,050 | #
41 B30 E] 6,450 | 4 6,450 | 4 * * *
42 CFET(IHEFED) * * * * *
43 BV S B RT(IHERHET) 7,000 | 4 7,000 | 4 2,100 | 4 2,450 | 3,400 | 4
44 + N (18+F1H i ET) * * * * *
45 X FHET * * 2,450 | 2,800 | #A 3,750 | 4
46 1EAT 6,450 | #53 6,450 | #5 * * *
47 BALET(IR £ 4LET) * * * * *
48 FALET(IH AL ET) * * * * *
49 S ET(IH T HEHAT) * * 2,100 | # 2,450 | 3,400 | 4
50 £ A BT (IBREMAAT) * * * * *
51 7N 4 Frid 6,800 | #i 6,800 | 4 * * *
52 Lo (B o) 5600 | %3 5900 | %3 * * *
53 2> (1)1 AIET) 5600 @ 45 5900 @ 45 * * *
54 £ (IBAMEET) 5600 | %3 5900 | %3 * * *
55 K RIET 5600 | 43 5900 | %3 * * *
56 E@HT 5600 | %3 5900 | %3 * * *
57 BRI 5600 | %3 5900 | % * * *
58 {3 #t 5600 @ 45 5900 | 453 * * *
59 & oW (IRREFRA) 5600 @ 45 5900 @ 45 * * *
60 £ o JRET 6,150 @ #5# 6,150 | #5 * * *
61 DH* % (IHAEHET) 6,150 = #5# 6,150 = #5# * * *
62 SZHET(1HHED) 7,500 | 3 7,500 | #5A * * *
63 oM % (IHFREA) * * * * *
64 FEET(IHA IEH) 7,500 @ 453 7,500 @ 53 * * *
65 A5 i (IBHAH) * * * * *
66 ' % i (IAFEEH) * : . . .
67 2N B (IREHH) 6,150 | 4 6,150 | 4 * * *




o [X B Mz

20301015

R050901 £\

3E8KA77 (72029M0A7))

Sy

0-40(CS-4018 %4 &)

X B

m3

01 EFm(REHRT)

02 FPHT

03 414 BT (IR EET)

04 5-BIET

05 ZEMAH

06 4} 4 &R (IR FEEH)

07 4\ 4 BT (IR = BEAT)

08 sAgT T (IH3ART™)

09 2R

10 5477 (IR & AET)

11 3hgT (IR ER)

12 mEERN

13 iz 7 (18 Bl )

14 Ky

15 )1 (IRE L #T)

16 F#h (HRFHT)

17 )l (1B HT)

18 BRIGET (IR 8&AT)

19 A&

20 )1l (18%E o BIHY)

21 AF#H(BAFT)

22 =FHT

23 AFBT(IHAFHD)

24 BFHT

25 FEERET(IR %) 11 HT)

26 EERET(IHES AR ET)

27 P& _LHT

28 F gy (IRfE#AT)

29 \NFi (IR EH)

30 AFRE(IHERH)

31 BN

32 AR (BER)IRE)

33 AR MNET

34 AR (IBEAHE)

35 R ET(IA 2 HT)

36 A5 AT

37 AR IR (IBHR)

38 FUART(IR/VER)

39 +AIEM (IB+HMEH)

40 =R

41 BP0y

42 EFET(IBEFHD)

43 LS EET(EERE)

44 +Fmh (18-+F0E#HHET)

L wavalil

46 fEEET

47 BALET(IR £ 4LET)

48 FAvET(IHER-LEY)

49 BT (1H T HED

50 LA ET(IBR M)

51 74 P

52 L oML o)

53 Lo (1R)IIET)

54 o (IHAMEET)

55 K ET

56 HEAY

57 B

58 Y

59 L > (IHBE R

60 #2 4 JRHET

61 21 B (IRAEHE)

62 FmET (BT

63 2 B (IBFMEHR)

64 FEET(IHA IEH)

65 2 A' % M (IB4aH)

66 D H' % (IRFEEA)

67 2N B (IREHH)




